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Question Id : 87827032996 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, Cand D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.

Numbers of Registered cars Inthe year 2020
Cities Population of the Cities
2017 | 2018 | 2019 | 2020 (]n Mi]]inn)
A 7500 | 8000 | 9000 | 9500 0.8
B 1200 | 1350 | 1400 | 1500 0.2
C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75

Sub questions

Question Number : 1 Question Id : 87827032997 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which city has shown maximum percentage growth (%) in registered cars from 2017 to 2020 ?

1) A

2 B
(3) C
4 D
Options :

878270129841. 1
878270129842. 2
878270129843. 3

878270129844. 4

Question Number : 2 Question Id : 87827032998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the year 2020, per capita registered cars were maximum in the city :

(1) D
2) C
(3) B
4) A
Options :

878270129845. 1
878270129846. 2
878270129847. 3
878270129848. 4

Question Number : 3 Question Id : 87827032999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Taking all the cities together, what is the ratio of total number of registered cars in the year 2020
with respect to 2017 ?

(1) 284:197

(2) 149:154

(3) 142:.79

(4) 53:41
Options :
878270129849. 1
878270129850. 2
878270129851. 3

878270129852. 4

Question Number : 4 Question Id : 87827033000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the average of percentage growth (%) in registered cars across all the cities from the year
2017 to the year 2018 ?

() ~18%

(2) ~16%

(3) ~14%

4) ~12%
Options :
878270129853. 1
878270129854. 2
878270129855. 3

878270129856. 4

Question Number : 5 Question Id : 87827033001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Based on the average growth percentage (%) of registered cars per year (in successive years during
2017 - 2020) in the city A, what will be the estimated number of registered cars in city A in the year
2021 7

(1) ~11225
(2) ~10815
(3) ~10415
(4) ~ 10083
Options:
878270129857. 1
878270129858. 2
878270129859. 3

878270129860. 4

Question Id : 87827032996 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
fomferfiga aferen o o 2017 & 2020 79 =R o9 % A T WA (A, B,C 4R D) § teiiga #R a1
e e o affeg gt e E | it e o 2020 % ferw 39 V) o S ¥ ws fiu
T E | e i fou T aeRe & amem ® A feu T v F e

" Usitepl Rl bl HE Y 2020 ¥ WEW ki THEEN
2017 | 2018 | 2019 | 2020 (R )
A | 7500 | 8000 | 9000 | 9500 0.8
B | 1200 | 1350 | 1400 | 1500 0.2
C | 6000 | 7500 | 8500 | 10000 0.6
D | 5000 | 6000 | 6600 | 7400 0.75

Sub questions

Question Number : 1 Question Id : 87827032997 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1) A

(2
(3
)

)
4)

Options :

878270129841. 1
878270129842. 2
878270129843. 3
878270129844. 4

Question Number : 2 Question Id : 87827032998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a9 2020 ¥ frfafad wet # gfa =afeq dsfighd wR1 i sHfeepay den o
(1) D

2 C
(3) B
4) A
Options:

878270129845. 1
878270129846. 2
878270129847. 3

878270129848. 4

Question Number : 3 Question Id : 87827032999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ot el o W o WA 2017 % e 3 2020 F IR FRI A Fe TN F PN SR &7
(1) 284:197

(2) 149:154

(3) 142:79

(4) 53:41
Options:
878270129849. 1
878270129850. 2
878270129851. 3

878270129852. 4

Question Number : 4 Question Id : 87827033000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(1) ~18%

)~ 16%
3)  ~14%

) ~12%
Options :
878270129853. 1
878270129854. 2
878270129855. 3

878270129856. 4

Question Number : 5 Question Id : 87827033001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ~1125
(2) ~10815
(3) ~10415
(4) ~10283
Options:
878270129857. 1
878270129858. 2
878270129859. 3

878270129860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701405
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827033002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - I1.

List -1 List - II
(Online Teaching Tools) (Advantages for Students)
(A) Learning Management System (LMS) (I)  Collaborating with peers, sharing ideas and
perspectives
(B) Video Conferencing (I) Receiving instant feedback on quizzes and
assessments, fracking progress and
performance
(C) Discussion Forums (I) Accessing course materials and assignments

any time, any where

(D) Online Assessment Platforms (IV) Participating in live online class sessions and
discussions from remote locations also

Choose the correct answer from the options given below :

(1) (AHL), B)-(V), (O)-(), D))

(&) (AHLV), (B, (CH), D))
(3)  (AMII), (B)-(IV), (C){1), O))
(4) (A}, (B)-(), (CHIL), (D)-IV)
Options:

878270129861. 1
878270129862. 2
878270129863. 3
878270129864. 4

Question Number : 6 Question Id : 87827033002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

3
4

878270129861. 1
878270129862. 2
878270129863. 3
878270129864. 4

Question Number : 7 Question Id : 87827033003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing are not the examplee of a positive teacher - student relal‘ionship ?
A) A teacher who punishes students for asking questions.

(

(B) A teacher who provides students with positive feedback and constructive criticism.
(C) A teacher who fosters open communication and mutual respect.

(D) A teacher who humiliates his/her students.

(E) A teacher who ignores the needs and concemns of his/her students.

Choose the correct answer from the options given below :
(1) (B) and (C) Only

() (A), (D) and (E) Only
) (A}, (B), (C)and (D) Only
(4) (B) and (E) Only
Options :

878270129865. 1
878270129866. 2
878270129867. 3
878270129868. 4

Question Number : 7 Question Id : 87827033003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270129865. 1
878270129866. 2
878270129867. 3

878270129868. 4

Question Number : 8 Question Id : 87827033004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
(Online Learning Platforms) (Respective Features)
(A) Swayam (I)  Paid courses on creative and entrepreneurial topics
(B) Udemy (II) ~ Free courses from Indian universities
(C) Skillshare (Ill) Video lectures and interactive exercises for k - 12
students
(D) Khan Academy (IV) Paid courses on various topics

Choose the correct answer from the options given below :
(1) (A, B)(I), (CHII), D)-1V)

(&) (AHID, B)-(V), (C)-(1), (D)
(3)  (AHLV), (B, (CHI), D))
(4)  (AHII), (B)-1), (CH1V), DK)
Options :

8782701298609. 1
878270129870. 2
878270129871. 3

878270129872. 4

Question Number : 8 Question Id : 87827033004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

A
A

(A
(
(
878270129869. 1
878270129870. 2
878270129871. 3

878270129872. 4

Question Number : 9 Question Id : 87827033005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of collaborative learning ?

(I) A teacher assigns individually a reading assignment and students take notes

(2) A teacher gives lecture on a topic and students take notes individually

(3) A teacher assigns homework for students to complete independently

(4) A teacher assigns a group project and students work together to do research and present

their findings
Options :
878270129873. 1
878270129874. 2

878270129875. 3



878270129876. 4

Question Number : 9 Question Id : 87827033005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270129873. 1
878270129874. 2
878270129875. 3

878270129876. 4

Question Number : 10 Question Id : 87827033006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the [Ullnwing Is a pnlenlial drawback of teacher centered instruction ?
(I) It can be more engaging and interactive for students.

(2) It can limit opportunities for students’ creavity and critical thinking.
(3) It promotes students’ independence and self-direction.
(4) It is more efficient and saves time.

Options :
878270129877. 1
878270129878. 2

878270129879. 3



878270129880. 4

Question Number : 10 Question Id : 87827033006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frfefEn o #-91 e Hia ey H H9ifaq FH €7
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Options :

878270129877. 1
878270129878. 2
878270129879. 3

878270129880. 4

Question Number : 11 Question Id : 87827033007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of steps involved in conducting a literature review for a research
study :

(A) Locate literature
(B) Organize the literature

(C) Identify key terms for search

(D) Write a literature review

(E) Critically evaluate and select the literature relevant to research
Choose the correct answer from the options given below :

@) @).6), 0 ) D)
@ (A).©) @) E DO
() (€ (A) 6 @) 0
(@ (€, () (A) @) O

)
) )
) )
(C )
Options:

878270129881. 1
878270129882. 2
878270129883. 3
878270129884. 4

Question Number : 11 Question Id : 87827033007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) Hfec GHian fora
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(L) (A), (B), (©), (E), (D)
2) (A) (©), (B), (E), (D)
(3) (©), (A), (E), (B), (D)
4) (©), (E), (A), (B), (D)



Options :

878270129881. 1
878270129882. 2
878270129883. 3

878270129884. 4

Question Number : 12 Question Id : 87827033008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The systematic elimination of extraneous variables, other than those you are interested in, can be
done in which of the following types of research ?

(1) Qualitative research

2

(3)  Experimental research
g

Longiludinal research

Correlational research

Options:

878270129885. 1
878270129886. 2
878270129887. 3

878270129888. 4

Question Number : 12 Question Id : 87827033008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270129885. 1
878270129886. 2
878270129887. 3

878270129888. 4

Question Number : 13 Question Id : 87827033009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When the researcher’s age affects the behaviour of the participant in a study, it refers to :

) Sociological effect

) Biosocial effect

) Psychological effect

) Psychosocial effect

Options :

878270129889. 1

878270129890. 2

878270129891. 3

878270129892. 4

Question Number : 13 Question Id : 87827033009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl SRR i ST ST % Wi 3 SHeeR i Yol e &, 30 e R
(1) HHETETE 99&
(2) VeI g9E
(3) wEFIER weE
(4)  TAGHITEE Gora
Options:
878270129889. 1
878270129890. 2
878270129891. 3
878270129892. 4

Question Number : 14 Question Id : 87827033010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In a negatively skewed distribution, which among the following would be true ?
(A) Mean > Mode

(B) Mean < Median
(C) Median < Mode
(D) Mode > Mean

Choose the correct answer from the Dptiuns given below :

(1)  (A)and (B) Only

(2) (B) and (C) Only
(3) (B) and (D) Only
(4) (A) and (C) Only
Options :

878270129893. 1
878270129894. 2
878270129895. 3
878270129896. 4



Question Number : 14 Question Id : 87827033010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e faum faaror § ffafes & 9 6 91 9@ 8 ?
(A) HI=F > dgelsh
(B) HI¥A < HIAH
(C) ekt < SIgerh
(D) ¥Edds > HIEH
) fem U et H @ R SRR B S R
(1) FEd (A) SR (B)
) ¥ (B) R (O)
(3) A (B) SR (D)
) I (A) FR (O)

Options :

878270129893. 1
878270129894. 2
878270129895. 3

878270129896. 4

Question Number : 15 Question Id : 87827033011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A researcher obtains the following P values for sample correlation coefficients of different samples.
Which ol“ these can be considered sigm[icant at 5 % level of signi[ icance ?

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2) (B) and (D) Only

(3) (C) and (E) Only

(4) (A), (C) and (E) Only

Options :

878270129897. 1

878270129898. 2

878270129899. 3

878270129900. 4

Question Number : 15 Question Id : 87827033011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270129897. 1
878270129898. 2
878270129899. 3

878270129900. 4

Question Number : 16 Question Id : 87827033012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The term ‘analog media” was originally derived from :
(1) Folk performances

(2) Satellite communication

(3) Internet

(4) Audio recordings
Options :

878270129901. 1
878270129902. 2
878270129903. 3

878270129904. 4



Question Number : 16 Question Id : 87827033012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"urer wifean’ ug =i seafd g fFad gg § 2

(1) o 939

(2) HemEE HREO

(3) FeTR

(4) A (Atfea) sfveraa (fEpfes)
Options :

878270129901. 1
878270129902. 2
878270129903. 3
878270129904. 4

Question Number : 17 Question Id : 87827033013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The automation element of online media has enabled the generation of :
(1)  Limited quantity of quality information

(2)  User specific information

(3) Complex philosophical information
(4) Non-specific general information
Options:

878270129905. 1

878270129906. 2

878270129907. 3

878270129908. 4



Question Number : 17 Question Id : 87827033013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270129905. 1
878270129906. 2
878270129907. 3

878270129908. 4

Question Number : 18 Question Id : 87827033014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the fﬂllnwing are the orders of significatinn In communication ?
Denotation

(

(B) Connotation

(C) Myth

(D) Credibility

(E)  Attribution

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

8782701299009. 1



878270129910. 2
878270129911. 3

878270129912. 4

Question Number : 18 Question Id : 87827033014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafas § 9 91 99w % 319 GHhaT wFEa e ?
(A) TEnd (fedresm)

(B) wHgaTY (FAIeIH)

(C) IEEED

(D) Towasraa

(E) IO

i e T foeredl # 9 WE R T FA
(1) = (A), (B) 3R (O)

(2) %9 (B), (C) ¥R (D)
(3) A (C), (D) ¥R (E)
(4) 9 (A), (D) 3R (E)
Options :

8782701299009. 1
878270129910. 2
878270129911. 3
878270129912. 4

Question Number : 19 Question Id : 87827033015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[n the context of communication, pnlil‘ical socialisation is linked to social leamjng in terms of
how ?

(A) Power is attained.

(B) Certain sections of society should be left out of the mainstream.
(C) Social systems are ignored.

(D) Power is used and misused.

(E) Political and economic decisions are made.

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

@ (), () and (D) Only
(3) (A), (D) and (E) Only
(4) (B), (D) and (E) Only
Options :

878270129913. 1
878270129914. 2
878270129915. 3

878270129916. 4

Question Number : 19 Question Id : 87827033015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e % Hest § Terifass AR 58 ¥ 9§ amfees afm 3 e g fE R
(A) TR 9T S

(B) WIS % FD I I YA YN § 7en BIE o I =feu |

(C) Trfees el @ SRR R foan st €

(D) T I STAM 3R GETAM fovn ren 2 |

(E) Teiifaer 3R snfees fofr fe s 2

3 e o foret H R W SR A T FH
(1) % (A), (B) 3R (C)

(2) % (B), (C) ¥ (D)

(3) ad (A), (D) 3 (E)

(4) e (B), (D) 3 (E)

Options :

878270129913. 1
878270129914. 2
878270129915. 3

878270129916. 4

Question Number : 20 Question Id : 87827033016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Not every medium has its own grammar.
Statement (II) : Each media grammar has evolved over a period of time and continues to change.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options :



878270129917. 1
878270129918. 2
878270129919. 3

878270129920. 4

Question Number : 20 Question Id : 87827033016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

rﬁ%amﬂﬁw%‘:

FUF () T A9 T 9 S T & B

O (II) : T HTSA] AR FehA § forehied gu § SR 36H Tier el Tl ¢ |
IR F4A F STcliek §, A 150 0 fored § ¥ Wew e S 99 I ;
(1) g1 3R 1S T &

(2) YA 1 3R FHUR 11 A T

()

(4)

3) U T & Wi e 11T §
4) HUT 1T €, AFFT RO T &
Options :
878270129917. 1
878270129918. 2
878270129919. 3

878270129920. 4

Question Number : 21 Question Id : 87827033017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below ?
1.3, 6,10.15, 21,7 36 ... .

(1) 32
(2) 28
3) 29
4) 30
Options:

878270129921. 1
878270129922. 2
878270129923. 3

878270129924. 4

Question Number : 21 Question Id : 87827033017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

31 & T sfmen B B S geEEE o () # e o ?
3,6 10 18 21 2 38 . . .

(1) 32
(2) 28
(3) 29
(4) 30

Options :

878270129921. 1
878270129922. 2
878270129923. 3

878270129924. 4

Question Number : 22 Question Id : 87827033018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The ratio of water and milk in a 27 litre mixture is 5 : 4. Find the quantity of water to be added to
the mixture in order to make the ratio of water and milk as 3 : 1.

(1) 12 litres

(2) 15 litres
(3) 21 litres
(4) 36 litres

]

Options:

878270129925. 1
878270129926. 2
878270129927. 3

878270129928. 4

Question Number : 22 Question Id : 87827033018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

T 27 e o (0 O 31 G o ST 5:4 €1 39 T ol ) foel v e S fo s

TR 3R g4 1 W 31 7

(1) 12
(2) 15
(3) 21 @
(4) 36
Options :
878270129925 1
878270129926. 2
878270129927. 3

878270129928. 4

Question Number : 23 Question Id : 87827033019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on a principal amount for 2
years at 10% per annum is < 5431. Find the principal amount.

(1) 54310

(2) 108620

(3) T 453100

(4) 543100
Options :
878270129929. 1
878270129930. 2
878270129931. 3

878270129932. 4

Question Number : 23 Question Id : 87827033019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Y T 10% e 0 4 <) o1 T ol SR FER 5 o ol 3 35431 €1 He
i |

(1) 5410

(2) 7108620

(3) 453100

(4) T 543100
Options :
878270129929. 1
878270129930. 2
878270129931. 3

878270129932. 4

Question Number : 24 Question Id : 87827033020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Two friends A and B Live 140 km apart. They both drive in a straight line towards each other to
meet. If A drives at 80 km/h and B drives at 40 km/hr, then how many kilometres apart will they
be exactly 45 minutes before they meet ?

(1) 70 km

(2) 90 km

(3) 100 km

(4) 80 km

Options :

878270129933. 1

878270129934. 2

878270129935. 3

878270129936. 4

Question Number : 24 Question Id : 87827033020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

& i A 8B, 140 F 0, % ofve o wea €1 3 SR e e o g A ol T TR foew
fer frarema €1 it A, 80 for, 1 fe ey & B, 40 For. 0, e i &t =vn 4 7 = € e e @ I
45 firfe e for fof o, el a7

(1) 70fF

(2) 90

(3) 100 f
(4) 80 fof

Options :

)
)

878270129933. 1
878270129934. 2
878270129935. 3

878270129936. 4

Question Number : 25 Question Id : 87827033021 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a cerfain coded language, RAM' is coded as 32 and ‘SITA" is coded as 49. How 'SHYAM' will
be coded in that language ?

) 73

(2) 49
(3) 6
(

L=

a2

4 3

[

)
)
)

Options :

878270129937. 1
878270129938. 2
878270129939. 3

878270129940. 4

Question Number : 25 Question Id : 87827033021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e it hfed T 'RAM 1 32 o %9 ¥ feq foft 71 © $SITA' 1 49 % %9 ¥ gfert o oy
&1 T 9 H 'SHYAM' 1 ¥ e foran smem ?

1 73
2 49
(3) 66
(4 32
Options:
878270129937. 1
878270129938. 2
878270129939. 3

878270129940. 4

Question Number : 26 Question Id : 87827033022 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Analogy roughly corresponds to :

(1) Anumiti

(2) Upamit

(3) Agama

(4) Pratyaksha

Options :

878270129941. 1
878270129942. 2
878270129943. 3

878270129944. 4

Question Number : 26 Question Id : 87827033022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TIEEAA] Hie d W foheeh o1 &9 8 7
(1) T3
(2) ZufHfd
(3) HTH
(4) YA
Options:

878270129941. 1
878270129942. 2
878270129943. 3

878270129944. 4

Question Number : 27 Question Id : 87827033023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In order to know if the argument is deductive or inductive, out of the four given tests which one
applies to the following example ?

“Alan is a father. Therefore, Alan 1s a male”.

(1)  The Indicator word test
(2)  The Strict necessity test
(3
(

) The Common pattern test
Y

The Principle of charity test
Options :

878270129945. 1
878270129946. 2
878270129947. 3
878270129948. 4

Question Number : 27 Question Id : 87827033023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
7 WA & e o o0 afey FeeTenes & a1 STk &, At fen o = wemedt § § Bm-1 wtem
frpeifcfa SereTa 0 o &1 & 7

"o i €| o oem e gl

b T T

Options :

878270129945. 1
878270129946. 2
878270129947.3

878270129948. 4



Question Number : 28 Question Id : 87827033024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pick a correct observation from the following argument :

“All dogs are cats

All cats are whales

Therefore, all whales are dogs”

(1) It is valid argument and contains true premise and true conclusion
(2) It is invalid argument and contains false premise and true conclusion
(3) Itis invalid argument and contains false premise and false conclusion
(4) Itis invalid argument and contains true premise and false conclusion

Options :

878270129949. 1
878270129950. 2
878270129951. 3

878270129952. 4

Question Number : 28 Question Id : 87827033024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Freffefan afm & o Jam 1 = e -
et e fafeear €
i fafeerl g1 €
aa: ooff g1 Fa 21
(1) 7 A Ffoa € 3R 39H &l 4R a6 391 |el ek ¢ |
(2) ¥ W gfe ¢ 3R THH T SNYR 99 IR e e ©
3) I8 ST IfH © SR 39H el MR 9 3R o feRd €
(4) 7 A FfH ¢ IR 3HH WE SR S AR Terd ek €

Options :

o

878270129949. 1



878270129950. 2
878270129951. 3

878270129952. 4

Question Number : 29 Question Id : 87827033025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Arguments from analogy are generally deductive, weak or strong
Statement (II) : Arguments from analogy are generally inductive and neither valid nor invalid.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270129953. 1

878270129954. 2

878270129955. 3

878270129956. 4

Question Number : 29 Question Id : 87827033025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@Wﬁ’qw%:

FIT () TEwIa ¥ Ffoe T AT, FESIR S Heea o ¢

Y (I1) : TIevaen ¥ Jfe] QrT: SAMTHATes 3R 7 W 3R A € v o € )
I A F A H, Tl U T foedl # 9 W I9ga I B T HAC ;
(1) U1 3N e 11 &

(2)  HYT 19N R 1S T §

(3) YT ITE &, Cifehd e 11 7o ¢
(4) U T &, TR HOR LT &
Options:

878270129953. 1

878270129954, 2

878270129955, 3

878270129956. 4

Question Number : 30 Question Id : 87827033026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the light of syllogistic argument which of the following is/are incorrect ?
(A) The predicate term of the conclusion is the major term.

(B)  The subject term of the conclusion is the minor term.
(C) The middle term must occur only once in the premise.
(D) The middle term must be distributed at least once in the conclusion.

Choose the correct answer from the Dptiﬂns given below :

(1) (B) Only
(2) (B) and (D) Only
(3)  (C) Only
(4) (C) and (D) Only

Options :
878270129957. 1

878270129958. 2



878270129959. 3
878270129960. 4

Question Number : 30 Question Id : 87827033026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
TR gfad & el ¥ frefafed § 9 #5696 78 €2
(A) frerd &1 faie wg ge vg 2
(B) Tt =1 fawg 95 i 9% 2
(C) W™ UE YR 919 § el Tk a1 37999 gH1 =fed |
(D) 1A 9e 1 foerd § &9 F 1 U 9R faeo srava g =fen |

Al feu T foered # 9 W& SR Al =FH i
(1) < (B)

(2) 9 (B) 3R (D)

(3) = (Q)

(4) a4 (C) ¥R (D)

Options:

878270129957. 1
878270129958. 2
878270129959. 3

878270129960. 4

Question Number : 31 Question Id : 87827033027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Anil has an MP?3 file stored on his computer. Which type of data is stored in an MP3 file ?
(1) Video

(2) Sound

(3) Image

(4) Text
Options:
878270129961. 1
878270129962. 2
878270129963. 3

878270129964. 4

Question Number : 31 Question Id : 87827033027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 7 T U H T MP3 W WS @1 | MP3 TEd W o T o ST o1 e o S g 7

Options :

878270129961. 1
878270129962. 2
878270129963. 3
878270129964. 4

Question Number : 32 Question Id : 87827033028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following technologies A-D used in first generation to fourth
generation of computers.

(A) Integrated circuits

(B) Microprocessors

(C) Transistors

(D) Vacuum Tubes

Choose the correct answer from the options given below :
(1) () (©) ®) (A)

(2 (D) (C), (&) @
3) (€ (D), (), ©)
(4) (), (4),(©) (D)
Options:
878270129965. 1
878270129966. 2
878270129967. 3

878270129968. 4

Question Number : 32 Question Id : 87827033028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Vel Uit ¥ =l o) 2 g § 3w i T Fvfafen S (A-D) 1 T FH a
(A) T 9wy (EeE Hfkew)

(B) FEZRIINE

(C) e

(D) foaiia il (W 239)
ﬁ%ﬁqwﬁm’iﬁﬁqﬁmaﬂwﬁm:



878270129965. 1
878270129966. 2
878270129967. 3

878270129968. 4

Question Number : 33 Question Id : 87827033029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements ;

Statement (I) : (1011101), = (5D},
Statement (II) : (C2);, = (11000010},

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct
Options :

878270129969. 1

878270129970. 2

878270129971. 3

878270129972. 4

Question Number : 33 Question Id : 87827033029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A & FA ﬁ::q e %:

AT (1) : (1011101), = (3D),,

O (1) : (C2)4 = (11000010),

I A F A H, Tl U T foedl # 9 W I9ga I B T HAC ;
(1) U1 3N e 11 &

(2)  HYT 19N R 1S T §

(3) YT ITE &, Cifehd e 11 7o ¢
(4) U T &, TR HOR LT &
Options:

878270129969. 1

878270129970. 2

878270129971. 3

878270129972. 4

Question Number : 34 Question Id : 87827033030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following computer memory types are volatile ?
(A) CMOS memory

(B) Cache memory

(C) Flash memory

(D) Hard disk

(E) RAM

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (A), (©) and (D) Only

(3) (B), (C) and (E) Only

(4) (B) and (E) Only

Options :

878270129973. 1



878270129974. 2
878270129975. 3

878270129976. 4

Question Number : 34 Question Id : 87827033030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frefafed 8 § 7 & TR 1 FEe i Afer (derrd) g6 € ?
(A) i TH 3 TE HEA

(B) B9l WA

(C) Wi HE

(D) @€ fe=k

() $RTTH (W)

A feu o fawedl # 9 W& SO H =g F
(1) e (A), (B) ¥R (E)

(2) =4 (A), (O) 3R (D)

—

)
)
3) %dd (B), (C) 3 (E)
(4) Fa (B) 4R (E)
Options :

878270129973. 1
878270129974. 2
878270129975. 3
878270129976. 4

Question Number : 35 Question Id : 87827033031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

(Storage Media) (Type of storage)
(A) Hard Disk Drive (HDD) ()  Optical
(B) USB Flash Memory (II) Magnetic
(C) Blu ray Disc (IIT) Solid state

Choose the correct answer from the Dptinns given below :

(D (A1), (B)-(I), (O)~(T)
(2)  (A)-(ID), (B)-(I), (C)-(I

) ) )
(3)  (A)-(IL), (B)-(1D), (C)-(D)
(4)  (A)-(I), (B)-(I), (C)-(II)
Options:

878270129977. 1

878270129978. 2

878270129979. 3

878270129980. 4

Question Number : 35 Question Id : 87827033031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gat-1 o |1¢ Geii-11 1 frer™ e
-1 q=i-11
( WSTIUT HrEAw ) ( WEHUT & UehTT )
(A) e fewr gra (w= €1 D) () eAifewa
(B) 9 UH S W19 HAN (I) #HHfew
(C) =g1ifew= (1) wHifae w2

= feu o fowedl § ¥ W@ SO 61 9949 Hife
(1) (A1), (B)~(IID), (C)«(L)
(2)  (A)1D), (B)-(I), (O)-(ILT)
(3) (A1), (B)~(ID), (O)L)
(4)  (A)-(D), (B)-(I), (O)-(II)



Options :

878270129977. 1
878270129978. 2
878270129979. 3
878270129980. 4

Question Number : 36 Question Id : 87827033032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : In the less developed countries of the world indoor exposure to hazardous air
pollutants is much more severe.

Reason (R):  Traditional methods of cooking aften involve fuels such as coal, wood, animal,
dung, kerosene etc.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270129981. 1

878270129982. 2

878270129983. 3

878270129984. 4

Question Number : 36 Question Id : 87827033032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 Fo fou T E o v (Assertion A) F & i frfga 4 FRl T HIW (Reason R) F

wH R

HIHIR (A) : (ol o o7 FoRpfi < o AT a1 YGUaR! a1 R o G Tt e T ey
8l

TOR): T T s fofe ) e, awd, e, S e 58 R 9 m
T febel T & |

Y HYA % A H, A 1 T Foe § | e I A A

(1) (A) 3 (R) <1 5 & 4R (R), (A) 3 Wl A §

() (A) &R (R) SFI 5 &, A (R), (A) F T A TE &

() (A)¥ & oo (R) 5E Tl €

(4) (A) T T @ e (R) TR &

Options :

878270129981. 1

878270129982. 2

878270129983. 3

878270129984. 4

Question Number : 37 Question Id : 87827033033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Addressing nation on independence day 2019, Prime Minister Sri Narendra Modi set a goal of tap
water to every rural house hold by the year :

(1) 2024
Q) 2025
(3) 2027
(@) 2030

=y

Options :
878270129985. 1
878270129986. 2

878270129987. 3



878270129988. 4

Question Number : 37 Question Id : 87827033033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

2019 % Tl feaw % 1 Haf o §Y U A o 0 W) A o A o e e R
6 T 35T F H e fif

(1) 2024
(2) 2025
(3) 2027
(4) 2030
Options :

878270129985. 1
878270129986. 2
878270129987. 3

878270129988. 4

Question Number : 38 Question Id : 87827033034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I ; A nuclear breeder reactor produces more fissile material than 1t consumes.

Statement II:  Present share of nuclear energy in the energy mix of the country is more than
that of renewable energy.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct

Options :



8782701299809. 1
878270129990. 2
878270129991. 3

878270129992. 4

Question Number : 38 Question Id : 87827033034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) OISR BRI T
() R 1 3 e 11 S e
(3) HUF IR & O o 1T ¢
(4) YR LTI &, T B 1
Options :

878270129989. 1
878270129990. 2
878270129991. 3

878270129992. 4

Question Number : 39 Question Id : 87827033035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Coral reefs are threatened because of release of sewage in ocean waters near
them.

Reason (R):  Release of sewage in oceans tends to reduce the clarity of ocean water.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270129993. 1

878270129994. 2

878270129995. 3

878270129996. 4

Question Number : 39 Question Id : 87827033035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 31 e feu U E: 1 firmem (Assertion A) % &% ffga ¢ & o THh I (Reason R) F
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(3) (A)%d & Ol (R) T8 T
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Options :

878270129993. 1



878270129994. 2
878270129995. 3

878270129996. 4

Question Number : 40 Question Id : 87827033036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Convention on Biodiversity (CBD) was opened for signature during :
(1) Earth Summit

(2) Montreal Protocol
(3) Kyoto protocol
(4) Stockholm Convention

Options :

878270129997. 1
878270129998. 2
878270129999. 3
878270130000. 4

Question Number : 40 Question Id : 87827033036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) wiEm wfuET
Options:

878270129997. 1
878270129998. 2



878270129999. 3

878270130000. 4

Question Number : 41 Question Id : 87827033037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are not the characteristics of conventional learning ?
(A) Emphasis on self directed learning and independent study

(B) Students learn through listening and observation

(C) No fixed curriculum

(D) Learner oriented

(E) Require regular attendance

Choose the correct answer from the options given below :

(I) (B) and (E) Only

(2) (A)and (E) Only

(3) (A), (C) and (D) Only
(4) (B) and (C) Only
Options :

878270130001. 1
878270130002. 2
878270130003. 3

878270130004. 4

Question Number : 41 Question Id : 87827033037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(3) A (A), (C) ¥R (D)
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Options :

878270130001. 1
878270130002. 2
878270130003. 3

878270130004. 4

Question Number : 42 Question Id : 87827033038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following universities in the chronological order of their establishment.
(A) Banaras Hindu University

(B) Jawaharlal Nehru University

(C) University of Allahabad

(D) University of Delhi

Choose the correct answer from the options given below :

(1) (© (A), D) (B)

2 (A)©), D) 6
©) (A) D) (©) B)
4 (A) (©) (B) D)



Options :

878270130005. 1
878270130006. 2
878270130007. 3
878270130008. 4

Question Number : 42 Question Id : 87827033038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frfafea favafaemerl 1 37 LAYl % FHTehaHER T |
(A) Y feg favafa=me™
(B) @R "eE favafaed
(C) zoterEr favafaem
(D) Teeett favafaamc
= feu v fasredi § 9 9 39T & =9IH HifeU
(D) (©), (A), (D) (B)
(2 (A), ©), (D), (B)
(3)
)

(A), (D), (), (B)

(4) (A) (©), (B) (D

Options:
878270130005. 1
878270130006. 2

878270130007. 3

878270130008. 4

Question Number : 43 Question Id : 87827033039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements in the context of NEP 2020 :

Statement (I) : It is envisaged that all higher education institutions shall aim to become
autonomous and have an empowered Board of Governors (BoG).

Statement (II) : Institutional Development plan shall be the sole responsibility of the members of
(BoG).

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270130009. 1

878270130010. 2

878270130011. 3

878270130012. 4

Question Number : 43 Question Id : 87827033039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130009. 1



878270130010. 2
878270130011. 3

878270130012. 4

Question Number : 44 Question Id : 87827033040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the [ollowmg is not a value as propnunded b}f the [ndian traditional concept of
Purushartha :

(1) Dharma
(2) Artha

(3) Bhakti

(4) Moksha
Options :
878270130013. 1
878270130014. 2
878270130015. 3

878270130016. 4

Question Number : 44 Question Id : 87827033040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foreafeian 3 7 1, o 9 A TR SR R Fhe e 82

()
(2) ¥
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Options:

878270130013. 1



878270130014. 2
878270130015. 3

878270130016. 4

Question Number : 45 Question Id : 87827033041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which commission/committee recommended that ‘the ordinary amenities and decencies of life
should be provided for women in colleges ordinarily planned for men and that there should be no
curtailment of opportunities for women' ?

(I) Durgabai Deshmukh Committee (1959)

(2) Kothari Commission (1964 - 66)

(3)  Bhaktavatsalam committee (1963)

(4) Radhakrishnan Commission (1948)

Options :

878270130017. 1

878270130018. 2

878270130019. 3

878270130020. 4

Question Number : 45 Question Id : 87827033041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270130017. 1
878270130018. 2
878270130019. 3
878270130020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701406
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827033042 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism, It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the proletariat as the panacea to the crisis of capitalism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’ subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races,

Another aspect that fascism had in common with feudal economics 1s its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation,

Sub questions



Question Number : 46 Question Id : 87827033043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fascist economics agreed with communists on the following :

(A) Capitalists are sensitive to the poor working conditions of the labour force.
(B) Capitalists promote speculation.

(C) Capitalists prioritize profits over collective goals.

(D) Capitalists indulge in financial wizardly.

Choose the correct answer from the options given below :

(I) (A),(C) and (D) Only

(2) (B) and (C) Only

() (8), () and (D) Only
@ (A), (B)and (C) Only
Options :

878270130021. 1
878270130022. 2
878270130023. 3

878270130024. 4

Question Number : 47 Question Id : 87827033044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  The communist solution to capital'usm was the take over of the means of prnduction
by the proletariat

Statement I1 ;:  The fascist solution to capita]ism was corporal‘ism.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4)  Statement I is incorrect but Statement II is correct



Options :

878270130025. 1
878270130026. 2
878270130027. 3
878270130028. 4

Question Number : 48 Question Id : 87827033045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Classless egalitarianism policy was followed by :
(1) Feudalism

(2) Capitalism

(3) Communism

(4) Fascism
Options :

878270130029. 1
878270130030. 2
878270130031. 3
878270130032. 4

Question Number : 49 Question Id : 87827033046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fascist economics is based on :

(1) Communism

(2) Capitalism

(3) A mix of communism and capitalism

(4) Feudalism

Options :

878270130033. 1



878270130034. 2
878270130035. 3
878270130036. 4

Question Number : 50 Question Id : 87827033047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fascism :

(A) Considered charging interest as immoral

(B) Valued agriculture and Industry

(C) Rejected hierarchies of feudalism

(D) Believed in corporatism

Choose the correct answer from the options given below :

(I) (A) and (D) Only

(2) (A), (B) and (C) Only

(3) (A), (C) and (D) Only

(4) (A), (B) and (D) Only

Options :

878270130037. 1
878270130038. 2
878270130039. 3
878270130040. 4

Question Id : 87827033042 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827033043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) A (A), (B) &R (O)

Options:

878270130021. 1
878270130022. 2
878270130023. 3
878270130024. 4

Question Number : 47 Question Id : 87827033044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130025. 1



878270130026. 2
878270130027. 3

878270130028. 4

Question Number : 48 Question Id : 87827033045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Tritfed THaETe i 9 fFaes g 3 19AE T2 ?

(1) HHaarg
(2) Yt
(3) HrEER
(4) TRIEETS
Options :

878270130029. 1
878270130030. 2
878270130031. 3

878270130032. 4

Question Number : 49 Question Id : 87827033046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130033. 1



878270130034. 2
878270130035. 3

878270130036. 4

Question Number : 50 Question Id : 87827033047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270130037. 1
878270130038. 2
878270130039. 3

878270130040. 4

Economics
SectionId: 878270837
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701407
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827033048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The expert committee set up by RBI in 2013 to revise and strengthen the monetary policy frame-
work in India was chaired by :

(I) Raghuram Rajan

(2)  Unit Patel

(3)  Deepak Mohanty
(4)  Michael Patra
Options :

878270130041. 1
878270130042. 2
878270130043. 3

878270130044. 4

Question Number : 51 Question Id : 87827033048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270130041. 1
878270130042. 2
878270130043. 3
878270130044. 4

Question Number : 52 Question Id : 87827033049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Under the flexible inflation targeting framework of monetary policy adopted by the RBI in 2016,
what is the target range of rate of inflation ?

(1) (¢£2)%

Options :

878270130045. 1
878270130046. 2
878270130047. 3
878270130048. 4

Question Number : 52 Question Id : 87827033049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130045. 1
878270130046. 2
878270130047. 3

878270130048. 4

Question Number : 53 Question Id : 87827033050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In a regression of a dependent variable on intercept and k other independent variables using n
observations, what are respectively the numerator and denominator degrees of freedom for the F
test for overall significance of the regression ?

() k-1,n-k
2 kan-k-1

(9) k-1n-k-1
4) kn-k
Options :

878270130049. 1
878270130050. 2
878270130051. 3
878270130052. 4

Question Number : 53 Question Id : 87827033050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

n JE4TT1 1 3 N EVE T 9 k T T R A S g (Fe) % ave o g
a1 e el o forw e o SR R B T A e e A

() k-1,n-k

2 kn-k-1

(3) k-1,n-k-1
4) kn-k
Options :
878270130049. 1
878270130050. 2
878270130051. 3

878270130052. 4

Question Number : 54 Question Id : 87827033051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Suppose X; is income of an individual i and Y, is the event that this individual owns a house,
P. = prob (Y,=1|Xi) and Z, =, +B, X,, which of the following is true for the logit model ?

1

i 5
. - 4

2 1 +¢4

1

P = :

g o 1407
1

i BE =

W B=1z
Options :

878270130053. 1
878270130054. 2
878270130055. 3

878270130056. 4



Question Number : 54 Question Id : 87827033051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
I 2 2R o 9 X, @ A5 e o O 0 T o A Y, B P, = prob (Y,=1] X3
A Z,=, +B, X, e red & ferw frefefien # 8 #1991 €7
1

g = 1 +lleZi
9 R
Options :

878270130053. 1
878270130054. 2
878270130055. 3

878270130056. 4

Question Number : 55 Question Id : 87827033052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



If the estimated slope coefficient in the regression of Y on X is a,whal will be the estimated slope
coefficient in the regression of 5 Y on 10 X ?

A

(1) s5p

A

@ 10
B 2p

W 05p

Options:

878270130057. 1
878270130058. 2
878270130059. 3

878270130060. 4

Question Number : 55 Question Id : 87827033052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e X T Y & FH (W)ﬁmﬁawwﬁ%,a’nuwaﬁrwwﬁmmaw
T 17

M 05
Options :
878270130057. 1
878270130058. 2

878270130059. 3



878270130060. 4

Question Number : 56 Question Id : 87827033053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tests has stationarity as the null hypothesis ?
(I) ADF Test

(2)  Phillips Perron Test

(3) ERS Test

(4) KDPSS Test

Options :

878270130061. 1

878270130062. 2

878270130063. 3

878270130064. 4

Question Number : 56 Question Id : 87827033053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frefefad wem o 4 fara g1 wieres T & 9t W ferar (RaHfE) €7
(1) TELuE gdlem

Options :

878270130061. 1
878270130062. 2
878270130063. 3

878270130064. 4



Question Number : 57 Question Id : 87827033054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a VAR model estimated using two variables X and Y, Lags of Y are jointly significant in the

equation for X but Lags of X are jointly insignificant in the equation for Y. What can you conclude

from this ?

(I)  There is no Granger causality between X and Y

(2)  There is bidirectional Granger causality between X and Y

(3) X Granger causes Y but Y does not Granger cause X

(4) Y Granger causes X but X does not Granger cause Y

Options :

878270130065. 1

878270130066. 2

878270130067. 3

878270130068. 4

Question Number : 57 Question Id : 87827033054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2 X SR Y 1 3N O A W AR (VAR) Hed ¥ ferg, X & w4 Y 9 v 97w
TR WF § | TR Y F AR A X I 99 & R 9 e § ) 39 o @ fend
e

(1) XY % s i IR 0 §aY e ¢

() X#RY %t e IR Fmm gay €

(3) X, Y % TR FRE, AR Y, X T I F0 T ¢

(4) Y, XTI ERWE, AH X, Y F IR FR T ¢

Options :

878270130065. 1

878270130066. 2



878270130067. 3
878270130068. 4

Question Number : 58 Question Id : 87827033055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Suppose India is the home country and USA is the foreign country. The interest rates in India and
USA are 6% and 4% respectively. The exchange rate of US Dollar is Rs. 80 today but is expected to
rise to Rs. 84 in one year. Which of the following is true, according to the uncovered interest
arbitrage parity condition ?

(I) Capital will flow into the Indian economy

(2) Capital will flow out of the Indian economy

(3) No captial flows

(4) Can't say on the basis of the information provided

Options :

878270130069. 1

878270130070. 2

878270130071. 3

878270130072. 4

Question Number : 58 Question Id : 87827033055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e o o7 Te-ow € ol v v foew &1 e o g w0 o g o 6% e 4% €1 J W ofew
% fafwm o0 39 R, 80 % 3R U 1 § 30 Rs, 84 T 95 T 1 41 €| SARITeR A SFAqUH
T W o SR ffefaa 8 8 39 9 & 7

(1) o0 %1 FaT% R 1 e ¥ g

(2) Sl o elTe A 1 R H et 1 % |

(3) % Tl Yol T 2|

(4) T T F SR W T o |



Options :

878270130069. 1
878270130070. 2
878270130071. 3
878270130072. 4

Question Number : 59 Question Id : 87827033056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the model In Y, = o + B X, +u, Where In is natural log, the elasticity of Y w.r.t. X is given by :
1 B

@ BX

%

W Ay

Options:

878270130073. 1
878270130074. 2
878270130075. 3

878270130076. 4

Question Number : 59 Question Id : 87827033056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iny,= o + BX;+Y, o WEa ¥, Sl In oo o () &, X & W ¥ Y 31 yeee () A
i & g9 1 W € ¢

5
o KR

Options:

878270130073. 1
878270130074. 2
878270130075. 3
878270130076. 4

Question Number : 60 Question Id : 87827033057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In an economy real GDP has increased from $ 990 PPP to $ 1080 PPP during 2015 to 2020. The
incremental capital output ratio is 2. The rate of investment is :

(1) 278 Percent

(2) 225 Percent

(3) 3.9 Percent

(4) 195 Percent
Options :
878270130077. 1
878270130078. 2
878270130079. 3

878270130080. 4

Question Number : 60 Question Id : 87827033057 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fopt sreforaeen ¥ o 2015 ¥ 2020 % U € W, § 990 T N Y TeH § 1080 T W o &
gfgma (Ftiew) o 3 U 25 %1 PR A e
(1) 278 giewm
(2) 225 g
(3) 39 Hidve
(4) 195 gewr
Options :
878270130077. 1
878270130078. 2
878270130079. 3

878270130080. 4

Question Number : 61 Question Id : 87827033058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following dimensions is included in HPI - 2 (Human Poverty Index - 2)
(1)  Gender Inequalities

2)

(3) Social Inclusion
(4)

Financial Inclusion

Economic Inclusion

Options:

878270130081. 1
878270130082. 2
878270130083. 3

878270130084. 4

Question Number : 61 Question Id : 87827033058 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefea o @ o1 omm we ot o1 2 (WHer T geeE 2) H e €72
(1) ifrh STeuTRm

(2) forig HWERA
(3) HHIfSTR HHEYH
(4) i qUEYH
Options :
878270130081. 1
878270130082. 2
878270130083. 3

878270130084. 4

Question Number : 62 Question Id : 87827033059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Solow residual i :
(1)  The difference between the rate of growth of productivity and the rate of growth of inputs

W
(3
(

) The difference between the rate of growth of output and the rate of growth of saving
) The difference between the rate of growth of output and the rate of growth of inputs
)

4)  The difference between the golden rule level of consumption and the sl'ead},? state level of
consumption
Options:

878270130085. 1
878270130086. 2
878270130087. 3

878270130088. 4

Question Number : 62 Question Id : 87827033059 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el e € ;

(1) el ® gig T a1 S hi 3G T H &N

2) R W g T A T Hl g W H TN

3) IR I gfe AU A H ghg G H oW

) S9N o @ w3 ‘m"ﬁf@«ﬂ AGE] (Steady State) &I Y #H

a2

(
(
(4
Options :

878270130085. 1
878270130086. 2
878270130087.3

878270130088. 4

Question Number : 63 Question Id : 87827033060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Gini-coefficient, a widely used measure of inequality in income is defined as :

1 11
i = 2.2 v - vj)

i j<l

@ 42,

Options:

878270130089. 1
878270130090. 2
878270130091. 3
878270130092. 4

Question Number : 63 Question Id : 87827033060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fref e, 50 a1 ) v o T & & 8 oo w9 A Y fon s €, e o e
e

]. n
H 2 2 2\ -y

i =l

& n+l
Q) ITZWE--{%}

1 n
o LA

Options:

=

g
il
i

878270130089. 1
878270130090. 2
878270130091. 3
878270130092. 4

Question Number : 64 Question Id : 87827033061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Endﬂgem}us gmwth thecu'}f assumes :
(1) Increasing returns to scale and perfect competition

(2) Decreasing returns to scale and perfect competition
(3) Increasing returns to scale and imperfect competition
(4) Decreasing returns to scale and imperfect competition
Options :

878270130093. 1



878270130094. 2
878270130095. 3

878270130096. 4

Question Number : 64 Question Id : 87827033061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) U9M < Iigur dfdwel aor gof gfagfra
(2) TR % FEAA Ffowe den qof giaEi
(3) WM & gfgu ufawe AR s1qof gfaaf
(4) THM % BEEA Aidwa SR gl gfaifr
Options:

878270130093. 1
878270130094. 2
878270130095. 3
878270130096. 4

Question Number : 65 Question Id : 87827033062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Suppose you are testing a Null Hypothesis about the population mean, Ho : p =, against
Hl: B>, with population variance given. The computed value of the test statistic is Zc. What is
the p-value for this test, where @ () is the cumlative distribution function for the standard normal
distribution ?

(1) & ()

) o/
(3) 1-9(Z
4 1-9(Z/2)

Options:



878270130097. 1
878270130098. 2
878270130099. 3

878270130100. 4

Question Number : 65 Question Id : 87827033062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T feffoe o e w2 % ot o 92 9o Ho : b = o 1 T4, Hyopop, & G R B E
el e O fe g €1 e YieeTst o TR 9 W Z B1 39 e R p-WH € Tl
() e T e & e Foemm) e € ¢

1) @&
o @
6) 1-9 (X
4 1-(Z/)

]

Options :

878270130097. 1
878270130098. 2
878270130099. 3

878270130100. 4

Question Number : 66 Question Id : 87827033063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The power of a test refers to :
(1) Typelerror

(2) Typell error

(3) 1-— Type II error

(4) 1 —Type Ierror

Options :



878270130101. 1
878270130102. 2
878270130103. 3

878270130104. 4

Question Number : 66 Question Id : 87827033063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TRIETOT T ife o1 e ©
(1) 9HR1Ffe

(2) WeRR I Ffe

(3) 1— 911 Iz

(4) 1 -9FRI1 Jfe
Options :

878270130101. 1
878270130102. 2

878270130103. 3

878270130104. 4

Question Number : 67 Question Id : 87827033064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given a random sample of size n from a population with mean . and variance, 2, the sample
mean has the following expected value and variance :

() El)=p Varlx)= crz/n
(0 E()=n Varlz) = no?
() El)= It Var(z) = o?
4 El)=p Valy)= n/cr2
Options :

878270130105. 1
878270130106. 2

878270130107. 3

878270130108. 4

Question Number : 67 Question Id : 87827033064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T | T T 2 AR o e § o SR AT e AT WieH v Wae WeA & W A
q 99 ﬁﬁfﬁf@ﬁ $
() E@)=p Vald)=c’/n
(2 EQ) = n. Var(z) = no?
() BG)=p Val) =
(4 Ek)=p Varlz)=n/o?
Options :
878270130105. 1
878270130106. 2

878270130107. 3

878270130108. 4



Question Number : 68 Question Id : 87827033065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In March, 2023 the consumer price index (CPI) of a country with a 1982 base index of 100, was
234.7. This means the cost of purchasing the market basket of goods and services :

(1) has decreased by 134.7% since 1982
(2) has increased by 34.7% since 1982
(3) has increased by 234.7% since 1962
(4)  has increased by 134.7% since 1982
Options :

878270130109. 1

878270130110. 2

878270130111. 3

878270130112. 4

Question Number : 68 Question Id : 87827033065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
A 2023 H Tl < 1 9 1982 o SR Fehieh 100 T S9ERT Fed Tk (S 9 &) 2347 41|
T 1 ¢ 1 el o gl o AR- 2 (TR aTRe ) WG
(1) o 1982 8 1347% % T ¢
() o 1982 8 34.7% % T B
(3) & 1982 § B47% T T &)
(4) 91982 8 134.7% 76 T T
Options :
878270130109. 1
878270130110. 2
878270130111. 3

878270130112. 4



Question Number : 69 Question Id : 87827033066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Consider a production function q=x+1, where x and y are the 2 inputs. If the respective input
prices are w, and w, and assume w, > w, Then the cost function C(q) is :

1) Cg=wg
2

0 Cg=w

(6) Clg= (w ot wu)q
@) Cg=

Options :
878270130113. 1
878270130114. 2
878270130115. 3

878270130116. 4

Question Number : 69 Question Id : 87827033066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

W‘?ﬁ_’ﬁ'qﬂﬂjmﬁﬂﬂﬁmﬁﬁr yﬁl-ﬂm%lqﬁ-ﬂmﬂﬂm:wjﬁlwﬁﬁﬁ
w, > w, (7T i), & S e C(q) 1 2 ?

() C(q) Wi

@ Cg=wg

3) Clg)=(w,tw)q
) Clg=minfw,w,| g
Options :

878270130113. 1
878270130114. 2
878270130115. 3

878270130116. 4



Question Number : 70 Question Id : 87827033067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

W I
Suppose a cost function of producing g level of output in C(w, 1, q) where C(w, r, q) :q(—'l'-],

« P
where w and r are the wage costand rental cost of the 2 inputs capital (K) and labour (1) respectively.
What would be the production function q of kand 1 ?

(I) q=ak+pl
) q=[ke+1Fyf
3

(
(3) q=min {ol, k|
(4)

q=A(k*" I/
Options:
878270130117.1
878270130118. 2
878270130119. 3

878270130120. 4

Question Number : 70 Question Id : 87827033067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

W I
i T

WW&EW%WQ%WWWWC(W, ,q) %ﬁ'ﬁ(f(w,r, q)=q( ],Gf'ﬁ:i'w* a4

o p
t 31 S G (k) T R (1) 1 ; FGH T 70 e A €1 K 1 1 S e A 2 7
(I) q=ak+pl

() q=[ke+P]r

(3) q=min {ol, Bk]

(&) q=Ake 1

Options :
878270130117.1

878270130118. 2



878270130119. 3

878270130120. 4

Question Number : 71 Question Id : 87827033068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If {(x, y) is a homogeneous function of degree 2 with ['(2, 3)=4 and f'(4, 6)=12, find £(6, 9) :
(1) 117

(2) 234

(3) 115

(4) 243
Options:
878270130121. 1
878270130122. 2
878270130123. 3

878270130124. 4

Question Number : 71 Question Id : 87827033068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

e f(x, y), &l 2 1 WA (homogeneous) e & 34 £'(2, 3)=4 &R {'(4, 6)=12 T £(6,9) TW

EAIE

(1) 117
(2) 234
(3) 115
(4) 243
Options :
878270130121. 1
878270130122. 2

878270130123. 3



878270130124. 4

Question Number : 72 Question Id : 87827033069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the Average Revenue function AR=10+5q - qg, then the Marginal Revenue function is a :
) Convex function

) Concave function

) Can be both concave or convex function

) Weakly concave function

Options:

878270130125. 1

878270130126. 2

878270130127. 3

878270130128. 4

Question Number : 72 Question Id : 87827033069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ife SiEd TS Bed AR =10 +5q— g2 &, 1 HiHid T e ©
(1) O Her

(2) IFedS Fe
(3) STEdS TY1 3T S Her Bl TRd ©
(4) T FFEdd For

Options :

878270130125. 1
878270130126. 2
878270130127. 3

878270130128. 4



Question Number : 73 Question Id : 87827033070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Suppose a consumer has a utility function u(x)=104x , where x is the money income of the

consumer. Suppose the consumer’s initial endowment is Rs 50. Suppose she may suffer a loss of Rs
25 with a probability of (.5 for some random event. Suppose she pays p premium for an insurance
policy that fully reimburses her if she suffers a loss. How much premium p would she be willing to
pay to insure against the loss ?

() 12.50
(2) 13.57
(3) 1159
(4) 1441
Options :

878270130129. 1
878270130130. 2
878270130131. 3

878270130132. 4

Question Number : 73 Question Id : 87827033070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR TSI e TR o1 SN e w(x) =10y &, el x ST o1 1 79 & | ) e ey
! YRIE Ty %50 €1 7 fofe 39 98 Agfoes T & feu 0.5 %1 Wifeea & 919 25 ¥
a1t & e & | 7 o o ot Wt o fere p Shfiene 1 S et o fo e 3 2 2h
& 0 31 ol faufd &1 S 1 21 o foreg e B o for o e v o T o A ?

() 1250
Q) 1357
(3) 1159
() 1441

Options:



878270130129. 1
878270130130. 2
878270130131. 3

878270130132. 4

Question Number : 74 Question Id : 87827033071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Suppose (') is a continuous function over a closed and bounded interval [a, b]. Then there exists a
point d in [a, b] where {(’) has a minimum, and a point ¢ in [a, b] where f(*) has a maximum, so that
f(d)<f(x)<f(c) for all x in [a, b]. The statement is derived from :

(1) Intermediate Value Theorem

2

(2) Rolle’s Theorem
(3) Mean value Theorem
4

4)  Extreme value Theorem
Options :
878270130133. 1
878270130134. 2
878270130135. 3

878270130136. 4

Question Number : 74 Question Id : 87827033071 Question Type : MCQ Option Shuffling : No
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e {() W 9 &l 9 A [a, b] R U Faawer €, a [a, b] H W faig d 2l £() = @
3R [a, b] & e g o & T () aforrm 2, For® 46 £(d) < () < £(0), [a, b) B ¥ 1 & fom 1 7%
FH  fmme

(1) el ¥
() @A

(3) T W T
(4) T T
Options:
878270130133. 1
878270130134. 2
878270130135. 3

878270130136. 4

Question Number : 75 Question Id : 87827033072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider a consumer’s choice based on only 2 commodities ie., Xe R2 where X is a set of all
commodity bundles which the consumer can conceive of. Suppose x and y are the 2 different
comnmdlhf bundles and the budgel set B of the consumer can be written as :

B={(x, y): ppx+py=sM}; x;> 0,1 = 1, 2. Which of the Inllowmg statements 1s true ?

(1

)

) The budget set is an open, bounded and convex set
(2)  The budget set is not a bounded set

(3)  The budget set is a closed and non-convex set

4

4)  The budget set 15 a closed, bounded and convex set

Options :

878270130137. 1
878270130138. 2
878270130139. 3

878270130140. 4
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Correct Marks : 2 Wrong Marks : 0

T F A 2 T A X R2 T e o R ferm o o X weh g W A
WA ¢ (] OSR]I o o v & y S T o g € A iR
e T (72 B2) B, et et fora <1 56T € ¢ B=((x, o) vt pyysMy; > 0,1 = 1,2
fretfefiae o 9 317 0 F9 T 87

(1) oo q= O el g i 396 9= 2 |

) SR WY U e W T ¢

3) ST W W §G @ -390 9 ¢

4) S W U o TfiEg SR I e ¢

a2

(
(
(
Options :

878270130137. 1
878270130138. 2

878270130139. 3

878270130140. 4
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Minimum Instruction Time : 0
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Consider a Bertrand duopoly where the 2 firms produce a homogenous product. Assume the
market demand curve is y=y, +1,=1-p, where p is the relevant market price, y is the total
amount demanded at that price, y; and , are the output levels of firm (1) and (2) respectively.

Assume that the firm's cost functions are C(yg] ==Y fori =1,2. The rules of the pricing game

2
are as follows : Each firm must simultaneously quote a price in the interval [0, 1]. If the prices are
different, the firm with the lower price sells all the units demanded at that price. If they quote the
same price, the amount demanded at that price is splited equally between the two firms. What
would be the Nash equilibrium price and quantities ?

1
) P=P=1Y=Y,==Y, is one of the Multiple Nash Equilibria
) p q

1
Y1=Yy == Yiisthe Unique Nash Equilibrium

P, =P, =
@ h=h ;

1
2
1
(3) P>h= E} Y1 =0,Y =Y; is one of the Multiple Nash Equilibria

1
(4 P<h= E} Y1 =Y, Y5 =0 is one of the Multiple Nash Equilibria

Options:

878270130141.1
878270130142. 2
878270130143. 3

878270130144. 4
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T ¢ (Bertand) T foram afire ef <) bl vk ey e Feffe s €1 o effoe f
TR W1 356 y =, + =1 p &, el p Hog I TeA &, &7y 30 e WA 76 FaA AN &1y,

y T A (1) % (2)  FEA WRE | § =1,.2 o e o fef e o v e Cly ) = %H;‘%I

I T o W 30 W € ¢ T W o] O WY et [0, 1] W O e 3QT o 2 | A e
& & W e el O 3 e T Wef g @ e | e o e e R €
1 39 T AT T W € S e s | S e SR A g )

0 BB =1% =% =Y EREm i

2 B=h :%J‘ﬁ :Yf%YﬂW%ﬁ@W%I

(3) PB>P =%;Y1 =0Y, =Y, MG T Y R

1 ; ; '
(4) P <P = E;Yl =Y, Y, =0 %%H@Wﬁﬁ@%l
Options:
878270130141. 1
878270130142. 2
878270130143. 3

878270130144. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Suppose the cost function Clwy, wy, y}=y(w1+m +w2], where wy and w, are the prices of
2 inputs which are used in production of y. Which of the following properties of the cost function
Clwy, Wy, 1) is correct ?

(1) Cost function C{w;, wy, ) is monotone, concave and continuous function in w;, ;.

(2) Cost function C(wl, W, /) is a non-monotone, convex and continuous function in Wy, Wy,
()  Cost function is continuous in w; and w; and discontinuous function in .

(4)  Cost function is a continuous function and homogeneous function in degree 0.

Options :



878270130145. 1
878270130146. 2
878270130147. 3

878270130148. 4
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T S o T e C(wl,wz;y]:y(w1+M+w2]Tﬁﬁwl aa wzamﬁtﬁqﬁw
TN y TR o e H {1 T ¢ WWC(WI,WZ,]/)%ﬁlﬁﬁf@ﬁﬁﬁﬁ‘lﬂﬂ[ﬂﬂﬁ%?
(1) R FeH Clwy, Wy, ), w, 8, w, H HIAEH, S 34 A (o) e €|

(2) T T Clwy, Wy, 1), wy T wy § T-RIAIER, 376 91 W00 (o) e &

(3) T e w, T w, W 5 € 91y H A

(4) T Fei ek Had el #ife 0 ¥ (homogeneous) FHET (homogeneous) el d

s |

Options :

878270130145. 1
878270130146. 2
878270130147.3

878270130148. 4
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The demand and supply functions for cobweb model are given as :

Q¢ =19-6, and Q¢ = 6P,_ ;-5

Choose the right answer related to intertemporal equilibrium price and the nature of the equilibrium.
(I) P =2, explosive oscillation

-
3

= 7, uniform oscillation

=3l =gl

(
( = 3, damped oscillation
(4) P =3, uniform oscillation
Options:
878270130149. 1
878270130150. 2
878270130151. 3

878270130152. 4
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TEHEH Hige & f W 8 S WM 38 UER ¢
Q¢ =19-6P, and Qf = 6P,_;—5
SIS T=Ie i AR Tqer & W & o) H W S H w7 Hif )

(1) P=2, fowmes qer
(3 P=2, T TIIIH
(3) P =3, HoAa e
(4) P =3 T I SEA
Options :

878270130149. 1
878270130150. 2
878270130151. 3
878270130152. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the pay offs of two players, who are close friends. They can either go for Diwali shopping
or they can watch World Cup Cricket match.

Player 1
Diwali Shopping | World Cup Watching
Diwali Shopping 1) 0,0)
Player2 s
World Cup Watching (0,0) (L,2)

Identify which of the following is true for them :
(I)  There is no Nash equilibrium for them.
(2)  There is only one Nash equilibrium where player 1 goes for Diwali shopping and player 2
goes for World Cup Match.
(3)  Any of the four combinations can be a Nash Equilibrium.
(4)  There are two Nash Equilibria.
Options :
878270130153. 1
878270130154. 2
878270130155. 3

878270130156. 4
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3 faenfedi 91, 0 f o S €, & vl m fomm @i 9 21 6 et 91wl R €
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ki | IRER (2.1) (0,0)
forva 9 < (0,0) (L,2)

(1) % forg 3% ' g €

() A U W U ¢, el faerdl 1 fearel % e e S € o fae 2 fov o B
< 2|

(3) = g () § 9 B ot W e 8 T g

(4) AWEAT L

Options:

878270130153. 1

878270130154. 2

878270130155. 3

878270130156. 4

Question Number : 80 Question Id : 87827033077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In case of two perfect complement goods, which following statement is not true ?
(1)
(2)  The indifference curves are straight lines.
(3)
(4)

The substitution etfect is zero.

The indifference curves are L shaped
The gmds are alwa}fs demanded in fixed pmportians.

Options :

878270130157. 1



878270130158. 2
878270130159. 3

878270130160. 4
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31 gufa: g% aqel o Ame |, frefated § 9 = g0 @ e ?
1) foeeras (HeEEegeH) 9uTe 9 B 2 |
(2) arAfeme o Hieft @ S g
(3)
)

SAfITH 956 L TR o Bd B

3 a3l ol | eHen feer srgara o el §
Options :

878270130157 1

878270130158. 2

878270130159. 3

878270130160. 4
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3 2.4
and B =

1 5 which of the follcrwing is not correct ?

10 20

@ A+B) = i ;]
) ATB:LUG 240}

@ A= 5]
Options:

878270130161. 1
878270130162. 2
878270130163. 3

878270130164. 4
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Options:

878270130161. 1
878270130162. 2
878270130163. 3

878270130164. 4
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According to the Census 2011, which major Indian state is the most urbanized ?
(1) Maharashtra

(2) Punjab

(3) Karnataka
(4) Tamil Nadu
Options :

878270130165. 1
878270130166. 2
878270130167. 3
878270130168. 4
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T 2011 T SFFVET o 3TTER 9RA 1 HTH T8 T Gaifus Teded €2
(1) HerTe

(2) v

(3) FAF

(4) TS

Options :

878270130165. 1
878270130166. 2
878270130167. 3
878270130168. 4

Question Number : 83 Question Id : 87827033080 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a market for labour's demand and supply, the equilibrium wage is w*. The government fixes a

minimum wage at w'. Which of the following statements is true ?

(1) There is a tendency of increased casualization of workers if w' > w*, where the workers
would not receive lots of benefits.

(2) The market will now tend towards a new equilibrium at w', with no other changes, if
W > wh

(3) Ifw'<w*, there will be a tendency of increased casualization of workers,

(4) It will be impossible to administer such a legislation unless w' = w*.

Options:

878270130169. 1

878270130170. 2

878270130171. 3



878270130172. 4
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fief |

() A w'>w & AR w TR T T GG 1 AR TG0 8 990 31 F T T e |

(3) Faw'> w8 1 oG % iR 1 gt e

(4) ufdwew*ﬁ%'iama’ﬂiﬁwﬁmmwaw

Options :

8782701301609. 1

878270130170. 2

878270130171. 3

878270130172. 4
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In the given figure . DD is the demand curve and 55 is the supply curve in a market. Choose the
right answer from the following.

>Q
(I)  There is no stable equilibrium.
(2) E,isastable equilibrium, though E, is an unstable equilibrium
(3) E,isastable equilibrium, though E, is an unstable equilibrium
(4) Both E; & E, are stable equibria

Options:

878270130173. 1
878270130174. 2
878270130175. 3

878270130176. 4
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Options:

878270130173. 1
878270130174. 2
878270130175. 3

878270130176. 4
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Minimum Instruction Time : 0
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If the revenue deficit of an economy is 3% of GDP, the primary deficit is 2% of GDP and the fiscal
deficit is 7% of GDP, the capital expendlture to GDP ratio of that economy would be :

(1) 5% of GDP
() 1%ofGDP
(3) 4% of GDP
(4) 2% of GDP

Options :
878270130177. 1

878270130178. 2



878270130179. 3
878270130180. 4
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e T Srefomareen =1 TS ST S 1 6 9 3%, TIofes 91 S 2 0 2% SN T 7 o g
B 7% &, 3 30 Sl % Yo 7 aR S & o 7 orwa A

(1) o &9 5%
2 stddHn
(3) SHEdaan
(4) sHEda
Options :

878270130177. 1
878270130178. 2
878270130179. 3

878270130180. 4
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Minimum Instruction Time: 0
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If the interest rate is exogenously determined by the Central Bank of some country and the money
supply 1s endogenously determined, the slope of the LM-curve in the interest rate-income plane
would be :

(I) Positively sloped

(2)  Negatively sloped

(3) Horizontal

(4)  Vertical

Options :

878270130181. 1



878270130182. 2
878270130183. 3

878270130184. 4
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A oI < foll <1 o i o g ofeita w0 § FReifea 1 S € qon e F g s w0 Y
faeifia 2t €, 0 0 < 3 W Tel-TH o 2
(1) EAIcHR eferelretl
(2) HMHR
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Options :
878270130181. 1
878270130182. 2
878270130183. 3
878270130184. 4
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Higher fiscal deficit to GDP ratio would necessarily cause inflation if the economy is under :
(1) Demand constrained situation

(2)  Supply constrained situation

(3)  Both demand and supply constrained situation

4

4)  Neither demand constrained nor supply constrained situation

Options:

878270130185. 1



878270130186. 2
878270130187. 3

878270130188. 4
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Options :
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878270130185. 1
878270130186. 2
878270130187. 3

878270130188. 4
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Under the flexible exchange rate, if the current account deficit increases and the capital account
surplus increases for an economy, the exchange rate (domestic currency per US dollar) would :
(I) Appreciate

(2) Depreciate

(3)  Depends on which one is higher

(4)  Not depend on the BoP situation

Options:



878270130189. 1
878270130190. 2
878270130191. 3

878270130192. 4
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Options :

878270130189. 1
878270130190. 2
878270130191. 3

878270130192. 4

Question Number : 89 Question Id : 87827033086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Repo rate is the interest rate at which :
(1) The commercial banks borrow from the RBI

(2) The commercial banks borrow from the other commercial banks
(3) The commercial banks deposit money to the RBI
(4) The common people deposit money to the RBI

Options :



878270130193. 1
878270130194. 2
878270130195. 3

878270130196. 4
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Options :

878270130193. 1
878270130194. 2
878270130195. 3

878270130196. 4
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An economy characterised by huge involuntary unemployment would have an aggregate labour
supply curve in a real wage-labour supply plane that would be :

(I) Positively sloped

(2) Vertical
(3) Flat
(.

4)  Negatively sloped

Options :



878270130197. 1
878270130198. 2
878270130199. 3

878270130200. 4
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Options :
878270130197. 1
878270130198. 2
878270130199. 3

878270130200. 4
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World Hunger Index (WHI) includes :

1
(A) Child mortality with weight 3

A : . - 1
(B) Child stunting with weight =

3| =

(C) Undernourishment with weight

1
(D) Child wasting with weight 5

(E) Child mortality with weight %
Choose the correct answer from the options given below :
(1)  (A), (B) and (C) Only

(2) (A), (C) and (D) Only

(3) (B), (€) and (E) Only

(4) (D) and (E) Only

Options :

878270130201. 1

878270130202. 2

878270130203. 3

878270130204. 4
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(4) 9 (D) 2R (E)

Options:

878270130201. 1
878270130202. 2
878270130203. 3
878270130204. 4
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Which of the following statements are not true for the Linear Probability Model (LPM) ?

(A) Conditional probability of occurence of an event conditional on the value of explanatory
variable X is a linear function of X

(B) Estimated value of the conditional probability of occurence of the event lies between ( and 1
(C)  Error term is homoscedastic
R%is a good measure of goodness of fit

E:hoosu the correct answer from the options given below :
(1) (B) Only

@ | ) ( ) Only

(3) (), () and (D) Only

“ © Onlv

Options:

878270130205. 1

878270130206. 2

878270130207. 3

878270130208. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) R 3T o 3798 & 1 o3 W ¢
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Options :

878270130205. 1
878270130206. 2
878270130207. 3
878270130208. 4

Question Number : 93 Question Id : 87827033090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given that Z, is a zero-mean white noise process with variance ¢, which of the following are (0)
processes ?

(A) X=Xy tZ

B) X,=aX_;tZ where)<a<1

€ X =Z7Z+Z_;

(D) X =8+X._{tZ,

Choose the correct answer from the options given below :
(1) (C) Only

(2)  (B) Only

(3) (B) and (C) Only

(4) (B), (C) and (D) Only

Options:
878270130209. 1
878270130210. 2

878270130211. 3

878270130212. 4

Question Number : 93 Question Id : 87827033090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e 7, 7 M4 (SR ) el T W W (2 gst) Wik, foreent s o2 ¢, feefenfee
8 3 W yhEa 1(0) §7

W) X=X tZ

B) X =X, +Z, T 0<a<]

Q) X =Z4+Z 4

D) X, =8+X_{tZ,

1 few T ol W 9 e S 1 T A
(1) @ (Q

@ @)

() % (B) 3 (O

(&) & (B) (C) 4 )

Options:

8782701302009. 1
878270130210. 2
878270130211. 3

878270130212. 4

Question Number : 94 Question Id : 87827033091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are features of a weakly stationary stochastic process ?
(A) Mean is time-varying

(B) Mean is constant

(C) Variance is constant

(D) Covariance is time-invariant

Choose the correct answer from the options given below :

(1) (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (A), (C) and (D) Only
(4) (A)and (C) Only
Options :

878270130213. 1



878270130214. 2
878270130215. 3
878270130216. 4

Question Number : 94 Question Id : 87827033091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefefad § § FF-9 @40 U goa &9 4 R gl (Riees) W & ¢ 7

(A) W g % E1Y YR B e

(B) WA fem B €

(C) e feer g €

(D) Te-TH TWA % WY ST/ & ¢

9 fou o fasedi o | W I A T F (A
(1) @ (B) M (O
() & (B) (O R (D)
(3) e (4), (O 3 (D)
(@) A (4) @ ()
Options :
878270130213. 1
878270130214. 2
878270130215. 3

878270130216. 4

Question Number : 95 Question Id : 87827033092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Suppose an economy is in medium-run equilibrium. Now the government enacts a law, making
entry of new firms difficult, which increases the monopoly power of the existing firms. Which of
the following statements are true about this change ?

(A) Output level will be lower in medium-run

(B) Output level will be lower in short-run

(C)  Price level will be higher in medium-run

(D) Price level will be higher in short-run

Choose the correct answer from the options given below :

(I) (A)and (C) Only

) (B) (0 and (D) Only

(3) (B) and (C) Only

) (4)(8)(C)and 0) Only

Options:

878270130217.1
878270130218. 2
878270130219. 3
878270130220. 4

Question Number : 95 Question Id : 87827033092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) eI ¥ I W R g

(B) HTeTel ¥ TR W fAF 2

(C) WeAvE W T4 TR S A

(D) ST B T TR TR &

4 fou U feredl § B WG S 1 T F

(1) e (A) 4R (O)

Q) @ () (C) ¥R [)

(3) e (B) ¥ (C)

(&) (A), (B) (C) 4 (D)
Options :
878270130217. 1
878270130218. 2
878270130219. 3

878270130220. 4

Question Number : 96 Question Id : 87827033093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the new monetary aggregates suggested by the Third working group of RBI, which one/
ones include time deposits of term less than or equal to one year but does not include the time
deposits with term more than one year ?

(A) NM,

(B) NM,

(@ NM,

(D) NM,

Choose the correct answer from the options given below :

(1) (A) Only

) (0 Only

(3) (C) and (D) Only
(4)  (B) and (C) Only
Options:
878270130221. 1
878270130222. 2
878270130223. 3

878270130224. 4

Question Number : 96 Question Id : 87827033093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) NM,
Q NM,
(D) NM,
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Options :

878270130221. 1
878270130222. 2
878270130223. 3

878270130224. 4

Question Number : 97 Question Id : 87827033094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following are money market instruments ?
(A) 9l-day Treasury bill

(B) Commercial paper

(C) Certificate of deposit issued by banks

(D) 5-yr government bond

Choose the correct answer from the options given below :
(1) (A) Only

(2) (A) and (B) Only

(3) (A), (B) and (C) Only

(4) (B) and (C) Only

Options:

878270130225. 1
878270130226. 2
878270130227. 3
878270130228. 4

Question Number : 97 Question Id : 87827033094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafed § 9 #F-9 Ha1 99K & ST & ?
(A) 91 feerdig 25/ faa

(B) dMfUrfsdeh shTTsi/99: (commercial paper)
(C) ookl g1 STRT feRa 711 STAT R1 WA 9
(D) 9= oY =t FERH S-S

= feu v fasredi § 9 9 39T & =9IH HifeU
(1) 9 (A)

(2) O (A) 3 (B)

(3) e (A), (B) 3R (O)

(4) % (B) 3R (C)

Options:

878270130225. 1
878270130226. 2
878270130227.3

878270130228. 4

Question Number : 98 Question Id : 87827033095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements about the Current Account of the balance of payments and
indicate which statements are true ?

(A) Current Account deficit equals excess of imports over sum of exports and net transfers received
by a country.

(B) Current Account deficit may be covered by borrowing from foreigners.
(C) Current Account deficit may be covered by buying assets from foreigners.

(D) If India’s Current Account deficit in a particular period is $ 50 mullion, it can be financed by
net capital inflows amounting to $ 50 million.

Choose the correct answer from the optinns given below :

1) (A)®)©) O
A), (B), (D) Only

@

(3) (&) ©), [©) Only
(4) (B), (C), (D) Only
Options:
878270130229. 1
878270130230. 2
878270130231. 3

878270130232. 4

Question Number : 98 Question Id : 87827033095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T T & <6 B & o) § Fefcnen o w fomm i o 98 For 9 fafeq #ifee .

(A) ] T 121 < 9 e e e e Tl o AR § T o1 92 R T T o e
il

(B) Torcfiml & ot e W e 1 fd A < Fek

C) facfim & s atiem =1 @ e & d #1 o 5 2|

(D) e foreh oy e & s a1 ) e ey 50 e e & 0 3 50 fferm <fem
feare Yt el & ot foem < e €

A feu T ot W § W& S 1 T A

@) (@) ®)(C D)

@ ¥ (A),(8) (D)

() A (4), (C), (D

4 ¥ @) (0 D)

Options :

878270130229. 1
878270130230. 2
878270130231. 3
878270130232. 4

Question Number : 99 Question Id : 87827033096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Suppose India is home country and USA is foreign country. Interest rate in India is 3%, that in US
is 1%. The Re-5 exchange rate is Rs. 80 per USD in spot market and Rs. 81 per USD in 3 month
forward market. Which of the following are true for the resulting covered interest arbitrage
flows ?

(A) Indian Rupee will depreciate in spot market

(B) Indian Rupee will depreciate in forward market

(C) Interest rate will decline in India

(D) Interest rate will decline in US

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only
(3) (A)and (D) Only
@ (A)®) Q0

Options:

878270130233. 1
878270130234. 2
878270130235. 3
878270130236. 4

Question Number : 99 Question Id : 87827033096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) IR TR H YR 59 1 AR A

(B) e AR H R ¥ 1 HeAwd &

(C) e = ¢ W firre 2

(D) 79 ¥ o & firree 2vf

Al few T foeredl § ¥ e SR o 7 I

Options:

878270130233. 1
878270130234. 2
878270130235. 3

878270130236. 4

Question Number : 100 Question Id : 87827033097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The current account deficit of the BOP may be financed in many ways. Which of the following are
correct ?

(A) FDI inflows

(B) Inflow of foreign portfolio investment

(C) Borrowing from IMF or World Bank

(D) Drawing down foreign exchange reserves

Choose the correct answer from the options given below :

() (A) () (C) Only

Q) ©)(C)(0) Only
o ()@ 0 0
[0 )0 )0l
Options :
878270130237. 1
878270130238. 2
878270130239. 3

878270130240. 4

Question Number : 100 Question Id : 87827033097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ot 31 1 31 =] e S S el § foruifve forn 1 ek @1 feAfctfig o 9 o § W@ €2
A) TR o it (yay foce faw st

(B) faceh wewier e a1 siae
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D) oy w1 swem # &

el fou o fosredi § 9 W8 SRR 59 e

1) @ (A), (B) (O)

) % (B),(C) (D)

3) (4) @) (©) (D)
)
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(
(
(4) W (4), ), (D)

Options :



878270130237. 1
878270130238. 2
878270130239. 3

878270130240. 4

Question Number : 101 Question Id : 87827033098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements about the Specific Factors model of International Trade and say
which ones are correct ?

(A) Factors specific to the export sectors in each country gain from trade

(B)  Factors specific to the import-competing sectors in each country lose from trade

(C) Mobile factors that can work in either sector may gain from trade

(D) Mobile factors that can work in either sector may lose from trade

Choose the correct answer from the options given below :

(1) (4), (), (D) Only

@ ) () (D) Only
(3) (A), (B), (C) Only
(4 () @), () D)

Options :

878270130241. 1
878270130242. 2
878270130243.3

878270130244. 4

Question Number : 101 Question Id : 87827033098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



T SR % fafore e wiew o Ged § e s w fomm #if a0 o8 oA 31 ean
GIIE
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(B) IEH ¥ o ST Wierenef 4 o fafie el a0 oo 4 afd 3 ¢

(C) forelt oft & i vl R WA 1 R R AR B 7 el o W B

(D) forslt ft & o o e el o R ) AR 2 A e €

7 feu T foered # | W SO T e

() %@ (A), C) (D)
Q) ¥ (8) (C) D
) ¥ (A), ) ()
() (A)®) () D)
Options:
878270130241. 1
878270130242. 2
878270130243. 3

878270130244. 4

Question Number : 102 Question Id : 87827033099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements about the Aggregate Demand (AD) relation under price flexibility
and say which ones are correct ?

(A) The AD curve will shift to the right if autonomous investment rises,

(B) The AD curve will shift to the right if net exports rise in an open economy.
(C) The AD curve will shift to the left if money supply contracts.

(D) As price rises, shifting the LM curve, the AD curve shifts to the left
Choose the correct answer from the options given below :

(1) (A), (8) (©) Only

2 () (C) (D) Only
(3) (A), (), (D) Only
(4 (4) ®)© D)



Options :

878270130245. 1
878270130246. 2
878270130247.3
878270130248. 4

Question Number : 102 Question Id : 87827033099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e AT % S R A (U ) §ae & Hed W Freferfan e w e it aon w6 wei
% TaH Ff

(A) e T fie1 % o @l & A U1 ok Qifee N R &

(B) 7 W Aeferereen et e o g &t & 1 W & o fee i et &

(C) e W1 1 gl oo &It & 1 T 1 o e T T 2

(D) eI W 5 B TG 0 ol e 9 % HR0 T S o ) T e o €|

7 feu T foered # | W SO T e

Options:

878270130245. 1
878270130246. 2
878270130247. 3

878270130248. 4

Question Number : 103 Question Id : 87827033100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given the following statements about major schools of thought in macroeconomics, state which
ones are correct ?

(A) The Keynesians believed in wage and price flexibility and highlighted the role of aggregate
supply.

(B) The monetarists highlighted the importance of money in the economic system and that of
expectations in the analysis of inflation.

(C)  The classical school believed in the invisible hand and the efficiency of the market mechanism

(D) The new Keynesians make use of the assumption of imperfect markets in their frameworks.

Choose the correct answer from the optinns given below :

(1) (8), (C), (D) Only

@ (A), {) (C) D)
(3) (&) (©), (D) Only
(4) (4), (B), (C) Only
Options :

878270130249. 1
878270130250. 2
878270130251. 3

878270130252. 4

Question Number : 103 Question Id : 87827033100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) @ @) (C) [)

(@ (A),®),(©) D)

() @ (A), (), [0

@ %@ (A), ()

Options:

878270130249. 1

878270130250. 2

878270130251. 3

878270130252. 4

Question Number : 104 Question Id : 87827033101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider an economy with perfect capital mobility, fixed price level and flexible exchange rate.
Starting from equilibrium, suppose there is a monetary expansion.

Which of the following are true for the new equilibrium, as compared to the initial equilibrium ?
(A) Output will be higher

(B) Consumption will be higher

(C) Interest rate will be lower

(D) Interest rate will be higher

Choose the correct answer from the options given below :

(1) (A) Only
(2)  (B) Only
(3) (A) and (B) Only
(4) (A)and (C) Only
Options:

878270130253. 1
878270130254. 2
878270130255. 3

878270130256. 4

Question Number : 104 Question Id : 87827033101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130253. 1
878270130254. 2
878270130255. 3
878270130256. 4

Question Number : 105 Question Id : 87827033102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Let H = ¢Q where Q = Ax%P
Consider the following statements.
(A) Qis a homogeneous function for all values of a and B

(B) H is a homothetic function for all values of a and B
(C) Qisa homogeneous function only if a+p=1

(D) H is not a homogeneous function

(E) Qis not a homogeneous function

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (A), (B) and (D) Only

(3) (C) and (A) Only
(4) (E) and (D) Only
Options:

878270130257. 1
878270130258. 2
878270130259. 3
878270130260. 4

Question Number : 105 Question Id : 87827033102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C) Q Facl 7@ U GUEdd Hel §, 96 a+ =1
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Options :

878270130257. 1
878270130258. 2
878270130259. 3
878270130260. 4

Question Number : 106 Question Id : 87827033103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) ABis givenby

. 20
(B) BAisgivenby [32 82 20|
(C) AB is not defined
(D) BA is not defined
(E) ATB is defined
Choose the correct answer from the options given below :
(I) (C) and (B) Only
(2) (A), (D), (E) Only
(3) (A) Only
(4) (A) and (D) Only
Options:
878270130261. 1
878270130262. 2
878270130263. 3

878270130264. 4

Question Number : 106 Question Id : 87827033103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i @ :
A=|2 8 ﬁIB={9}

40
32
(A) AB 39 T T M iﬁ

(B) BA ThI 3H TE TUTH S [32 82 20]
(C) AB 9RwIfea &1 2|

(D) BA dftnfia = €1

(E) ATB gftenfia €1

A feu T ferpedi ® 9 @@ ST 1 =94 Hif
(1) & (C) 3R (B)

(2) %= (A), (D), (E)
(3) A (A)

(4) A (A) R (D)
Options:

878270130261. 1
878270130262. 2
878270130263. 3
878270130264. 4

Question Number : 107 Question Id : 87827033104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The following are five statements about short run cost curves.

(A) The Marginal Cost (MC) curve cuts both short run Average Cost (AC) curve and Average
Variable Cost (AVC) curve at their lowest point.

(B) The MC curve cuts AC curve from below, but nothing can be said about AVC curve.

(C) The distance between Total Cost (TC) curve and Total Variable Cost (TVC) curve gets reduced
as quantity increases.

(D) The Average Fixed Cost (AFC) curve is asymptotic to the cost axis.

(E) The AC curve is u-shaped.

Choose the correct answer from the options given below :

() (A) () (D) () Only

(@ () (©) (E) Only

B (4) (B Only

(4) (D) (E), (4) Only

Options :

878270130265. 1

878270130266. 2

878270130267. 3

878270130268. 4

Question Number : 107 Question Id : 87827033104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(C) Wl W fg o T W14 e A (TC) 6k SR et Tl Tl (TVC) a5k o ol el g3 et i
@l

(D) i Frve TR (AFC) 35 @A 318l R et (ufedfes) |

(E) AC T u ST#RH B

1 few T ol W 9 e S 1 T A

(1) ¥ (A),(0) (D), ©

Q) @ (8) (O (B

() @ (A) (B

(&) % (D), () (4)

Options:

878270130265. 1

878270130266. 2

878270130267. 3

878270130268. 4

Question Number : 108 Question Id : 87827033105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The OLS regression output of wages (Rs in thousand) on education (years of schooling 5) and
cognitive ability scores (CA) comes out to be :

Wages =336 + 0645 + 015 CA
(L98) (012)  (0.05)

with figures in parenthesis giving standard error.

The explained sum of squares is 4745.75 with degrees of freedom 2 and residual sum of squares is

33651.28 with degrees of freedom 567, which of the following statements is/are true ?

(A) For one year increase in schooling, wage per hour increases by Rs. 640 on the average, when
CA is kept constant.

(B)  The value of t statistic of CA is 3.

| (4745.75/2)
] stats 15 g1 F F: (3365128 /567)
(C) The P statisic s given by F= oo o)
33651.28 / 567
(D) TheF statistic is given by F = W

Choose the correct answer from the optians given below :

(1) (4], (C) Only

() (A), (), (D) Only
3) (A) B), (C) Only
(4)  (A), (D) Onl
Options:

878270130269. 1
878270130270. 2
878270130271. 3
878270130272. 4

Question Number : 108 Question Id : 87827033105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fov (et forme 0 ard ) ol WA A A% (CA) W (SR B H) F 4 v w
g () 2 WO AR T g
\ages = =336 + 064§ + 0.15 CA

(L9) (012  (0.05)
T () T fou U e W 3fe S & | AT avam 47457 & o) T wie 2
¢, ol srafire A 33651.28 & forg it et wifeelt 567 %1 Frifeiaa o & 91 1 oW T &7
(A) 3 CA ! feort T o @ O o ot whedt e a0 o sien weigh W Sl 7. 640 % g

RilEe

(B) CA % t Yoy 1 7 3 €|

O PR
01 pste it - 215
e few o fomredl # 9 W S A T Fi
(1) @ (4), (0)
(2) %9 (A), B), (D
() @ (A), )
(@ %@ (A), D)
Options:

878270130269. 1
878270130270. 2
878270130271. 3

878270130272. 4

Question Number : 109 Question Id : 87827033106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following statements regarding demography across India’s major states.
(A) Kerala pioneered fertility transition in India.

(B)  Bihar has high IMR, as well as low reporting of morbidity.

(C) Orissa records the highest share of immunized children as per NFHS-5 round.
(D) Tamil Nadu has the highest share of old age population as per Census 2011.
(E) Madhya Pradesh has the highest share of stunted children as per NFHS-5

Choose the correct answer from the options given below :
() (A), (D) Only

(2) (A), (B), (E) Only
) (A) (D), (E) Only
(4)  (A), (B), (C) Only
Options:

878270130273. 1
878270130274. 2
878270130275. 3

878270130276. 4

Question Number : 109 Question Id : 87827033106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR o T TG 1 SRl o 9y  fetfeiad e o feu

(A) A H T A o W YR g

(B) forem # o v o, (fovy 9 <) A €, W € e o o i # o fo 9 B
(C) TURTATE5 F e o 7ar Tiefer o=l oy feen <& &1 40
(
(

D) ¥ 2011 F1 SO & SER IS 79 F1 FHHEA § S feea Averg 3 o
F) TAUHTE.TH.5 % SFER 31aeg S ot (fo) (stunted) T o1 3w e ot e 7 ¢
%mwﬁm’lﬁwﬁrmmwﬁm

Options :

878270130273. 1
878270130274. 2
878270130275. 3

878270130276. 4

Question Number : 110 Question Id : 87827033107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 5
' ; ' A:
Consider a matrix {_2 "J

consider the following statements on characteristic polynomial, Eigen Values and Eigen Vectors.
(A) The characteristic polynomial is \*+\-2

(B) The characteristic polynomial is \2-2\-4 and the characteristic root or Eigen Values are
\=2and 1

(C) The characteristic polynomial is \>~\+2 and the characteristic root or Eigen Values are
\=1and 2

(D) The characteristic root or Eigen Values are \*= -2 and 1

Choose the correct answer from the options given below :
(1) (4),(C) and (D) Only

(2) (B) and (D) Only

() (8)and (C) Only

(4) (A) and (D) Only

Options :

878270130277. 1

878270130278. 2

878270130279. 3

878270130280. 4

Question Number : 110 Question Id : 87827033107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



_32 _SJHII%HHW:

frfefan foRIeama (characterised) T5YE, BT WAl 791 3574 Ffewl W faem Hif |
(A) TorToaATd TETE & A2+ N -2

(B)  fordwamTa wgYE § A2 2\~ 4 A forsTerTe et St Mg W § A* =2 791 1
(C) TordIommTa ogTS &, A2~ \+2 T foroiamTa W[t iefan 37 W § A+ =1 79012
(D)  ToroIaemT et SHefe ST HF & A= —2 791 1

el few T foedl # 9 W& S B 7 FIC ;

ﬂfgaaA{

Options:

878270130277.1
878270130278. 2
878270130279. 3
878270130280. 4

Question Number : 111 Question Id : 87827033108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Suppose production function q = f(k, 1), is a homogeneous function of degree 1. Consider the
following statements,

o J
(A) The marginal products of capital and labour [i and 8_;[] are homogeneous of degree 1.
qu azq
(B)  The second order cross marginal products of k and 1 are equal Le, Aok " oLl
) By et Thearem: 3 o+ .1
(C) By Euler’s Theorem : % i q
aZ, )2
(D) By Euler’s theorem : ak—lzl 1k (Blg 1=0

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (A), (B) and (C) Only

(3) (A), (C) and (D) Only

(4) (B), (C) and (D) Only

Options:

878270130281. 1

878270130282. 2

878270130283. 3

878270130284. 4

Question Number : 111 Question Id : 87827033108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ST fof 35 e q = f(k, 1) ife 1 1 Goer e &1 e el  ferem it

(A) ‘WWW?{WW(;E el aq] e 1 % FE ¢ |

:
(B) kaml%%ﬂﬂw%ﬁﬂamwww%{ L=l

Options:

878270130281. 1
878270130282. 2
878270130283. 3

878270130284. 4

Question Number : 112 Question Id : 87827033109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements :
(A) The union of finite numbers of closed set is a closed set

(B) The empty set is an open set but not a closed set

(C) Every infinite set is an open set

(D) The intersection of finite numbers of open sets is an open set
Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A) and (D) Only
(4)  (A), (B) and (C) Only
Options:

878270130285. 1
878270130286. 2
878270130287. 3
878270130288. 4

Question Number : 112 Question Id : 87827033109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfeied ol = foe=m HifT

(A) ¥ gg=El i1 uRfd e 1 9ie (union) TF S5 YA T
(B) T wq=a U& G T=A § A s 9o T ¢ |

(C) w yufified Gq=rd U gl T=I4 T

(D) & T=AI &l ffd Ge F yiawdl U gl TY=Y ©

= feu v fowedi § 9 W SO S =99 F e
(1) 9 (A) 3R (B)

(2) 9@ (B) 3R (O

(3) e (A) 3R (D)

(4) e (A), (B) ¥R (C)

Options :



878270130285. 1
878270130286. 2
878270130287. 3

878270130288. 4

Question Number : 113 Question Id : 87827033110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements :

Assume a consumer’s choice is based on only 2 commodities i.e., X ¢ Ri, where X is the set of an

possible commodities which a consumer can conceive of :

(A) Monotonicity of preference implies strong monotonicity but not the other way round.

(B) A preference relation is monotone if for all commodity bundle x, y € X, y = xand y #; then
yrx

(C) A preference relation (~) on X is strongly monotone if for all commodity bundles x, y € X,
y»xand y# x; theny - x.

(D) A preference which is locally non satiated must follow monotonicity and strong monotonicity.

Choose the correct answer from the options given below :

(1) (B) and (D) Only

(2) (A), (B)and (D) Only

(3) (A), (C) and (D) Only

(4) (A) and (D) Only

Options :

878270130289. 1

878270130290. 2

878270130291. 3

878270130292. 4

Question Number : 113 Question Id : 87827033110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
feeerfim o W foem o
W A, o SRR 21 P Fh 2 TRl R A1, 07 X R2, Tl X SR o1 el et
i 5@ gl % e ¢

(A) e (SHfHWH) %1 TERETER (monotonicity) ATt THETTERA SUIAI & g, 3641 Frwdia 1
gl

(B) WWWW%WNWWI@/EX%WyB.r@f{yixﬁly?;x
() X R T Telle Tt (=) JcTa W & A% § o W x, y e X F A o x Ay a Ay

-,
(D) TSitE S fof ST ®9 § S &, CHETTERA SR el CHEIRa o SR S 4|
7 feu o foemedt @ 9 WE SO A T e

Options :

878270130289. 1
878270130290. 2
878270130291. 3

878270130292. 4

Question Number : 114 Question Id : 87827033111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements :

(A) If the 2 utility functions u(x) and b(x) are related by u{x)=V(b(x)), where V'(*) > 0, then V(x)
is a utility function representing the same preference as b(x).

(B) If the 2 utility functions represents the same preference, the solutions to the consumer’s utlity
maximization problem are the same with the 2 utility function but the indirect utility functions
are different.

(C)  If the local non satiation assumption of preference is satisfied, any solution to the consumer's
utility maximization problem satisfies the budget constraint with equality.

(D) It the indirect utility function of b(x) is homogenous of degree 0 then indirect utility function
of u(x)=V(b(x)), where V'() > 0, is a homogenous function of degree 1.

Choose the correct answer from the options given below :

(1) (B) Only

(2) (A), (B) and (D) Only

(3) (A), (B) and (C) Only

() (8) (C) and (D) Only

Options :

878270130293. 1

878270130294. 2

878270130295. 3

878270130296. 4

Question Number : 114 Question Id : 87827033111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



vt e  form #ifo
(A) 3% < ST e u(y) T bly), u(x)=V(b(y)) 5 Faf & 5T V'()> 0 %, 3 V() S
T b(x) % T A A1 <9 B

(B) e 3 ST e W & e <9 & 9 vt & ST s o T 9 7 3
%) YN e o e WO &, S STee ST e fi i |

(C) e sforvre 1 T ST 1 Fe Hq 2l &, @ SIS ST SR qoe
3 ¥l g0l T Fia 1 FEA () F W9 TJE F ¢
(D) 7 bx) H ATAH ST Her HE 0 F1 T € A ufe) = V(bia)), eI V() >0, T THH
I e Fife 1 3 T GHERT Fer ¢ |
e few o fomredl # 9 W S A T Fi
(1) (B
Q) @ (4), (B) 3 (D)
() (4), (B) 3 ()
(@) @ () (C) ¥ (D)
Options:
878270130293. 1
878270130294. 2
878270130295. 3
878270130296. 4

Question Number : 115 Question Id : 87827033112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following 3 Constrained Optimization Problems (COP).
(a) Maximize z = In x, subject tox > 1

(b

) Maximize z = In x, subject to x < 1
(c) Maximize z = In x, subject to 1<x <2
(A) (a) and (b) have no solutions but (c) has solution
(B) () and (b) have solutions but (c) has no solution
(C) (a), (b) and (c) have no solution
(D) (a) and (c) have no solution but (b) has solution

Choose the correct answer from the Dptinns given below :
() (A) Only

(2) (B) Only
(3) (C) Only
(4) (D) Only
Options:

878270130297. 1
878270130298. 2
878270130299. 3
878270130300. 4

Question Number : 115 Question Id : 87827033112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefad 3 aregarers seaHiso gReqs (COP) T fa=m i
(a) z = Inx ! 3ffeRRaH HINT x > 1 F FHH

(b) z = Inx Rl ¥R FINT x < 1 F FHH

(¢) z = Inx R AYHTH FNT1 < x < 2 & FHH

(A) (a) 3R (b) % FHEM T8l € T (c) F THIYM B

(B) (a) 3R (b) =1 HHIYM € W (c) H Pz THIMM el ¢ |
(C) (a), (b) 3R (c) % FHMM & |

(D) (a) 3R (c) & THIHM & & T € WY (b) F FWIHMH 2|
< fou T fasred] § § W S0 1 999 it :

(1) a9 (A)

(2) 99 (B)

(3) @ (Q)

(4) 99 (D)

Options:

878270130297. 1
878270130298. 2
878270130299. 3
878270130300. 4

Question Number : 116 Question Id : 87827033113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II
(A) Ramsar Convention () Ozone layer depletion
(B) Basel Convention (I)  Reduction of greenhouse gas emission
(C) Montreal Protocol (IT) Conservation of wetlands
(D) Paris Agreement (IV) Control of trans-boundary movement of hazardous wastes

and disposal
Choose the correct answer from the options given below :
(1) (AHD, BHIV), CHI), D)
(2 (AML), (B, (CHI), D)-(1V)
(3)  (AHIV), (B0, CHID), DRI
() (AMI), BHLV), (O-1), DHI)
Options:
878270130301. 1
878270130302. 2
878270130303. 3

878270130304. 4

Question Number : 116 Question Id : 87827033113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl % 919 Gel-11 1 T i

Tl Tl
(A) TR FWEH (I) S T 1 ffor
(B) o HHTH () 7 239 T I §
(C) Azr@mesa () Toca & e
(D) Ufw Hwi (IV) TR T % S TiaeT o foem w fraam
A feg T fomret H 9 W I A T HAC
(1) (A0, BHIV), (C)-(), D)-(I)
(2) (A, (BHD), (C)-(I), (D}-IV)
() (AHIV), (B)-() (C)-(L), D)-(I)
(4) (A}, (BHIV), (CH(T), D)-(I)
Options:

878270130301. 1
878270130302. 2
878270130303. 3

878270130304. 4

Question Number : 117 Question Id : 87827033114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List -1 List - II
(A) Coase theorem () Property right, victim's pay and polluter pay principle
(B) Climate change () Lax environmental regulation, hidden subsidy
(C (IT) Quantity restriction
(D) Tradable emission permit  (IV) Global externality
%

hoose the correct answer from the optlons gwen below :

.__..-_-

Ecolngical dumping

(1) (AH), BHIV), O, (D)
(@ (AHD), (B)-{V), (CHI), (DHII)
() (AHI), B, (CHI), DHIV)
(@) (A)-II), (BHIV), (CHI). (D}I)

) |
) |
1)



Options :

878270130305. 1
878270130306. 2
878270130307. 3
878270130308. 4

Question Number : 117 Question Id : 87827033114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 i1 1 e it
Tl Tl
(A) = fagid () e e, e [T & GuvERa STa fgid (Property
right, victim's pay and polluter pay principle)
(B) ferarg WA () en v fefm, e srem
(€) witfefees & () FATeTeE foem
(D) SR (Tradable) (V) oo o
EREERE
A feu T ot W § W& S 1 T A
(1) (AMIL), (BHLV), (C)-{T), (D)-0)
(&) (AR, (BRIV), (C)(L), (DHLI)
() (AM, B)-(1), (C}{I), D)-(IV)
(4) (AR, (BM(IV), (C)-{1), (DHI)
Options:

878270130305. 1
878270130306. 2
878270130307. 3
878270130308. 4

Question Number : 118 Question Id : 87827033115 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(A) Kenneth Arrow () Analysis of causal relationship
(B) Robert Solow (II) Fundamental contribution in behavioural economics
(C) Daniel Kahneman () Fundamental contribution in welfare economics
(D) Joshua Angrist (IV) Fundamental contribution in economic growth theory
Choose the correct answer from the options given below :

(1) (AR, BHIV), (O-1), DHI)
(2 (AHI), B)-(D) (CHII), (D1V)
() (AR, (BH1V), (O, (D)
(@) (AH1), (BHIV), (CHI), (D}I)
Options :

878270130309. 1
878270130310. 2
878270130311. 3

878270130312. 4

Question Number : 118 Question Id : 87827033115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tefl-1 % W Gelt-11 1 et i

Tl Telt-11
(A) F39 T (Kenneth Arrow) (1) FROTCHE Faiel 1 fowerm
(B) T Tl (Robert Solow) () TR s § qee amer
(C) SFF@ F (Daniel Kahneman) — (Ill) FeAvER S99 H Yayd amaH
(D) S T (Josha Angrist) (IV) s gfg fagia  Tevd amer

e feu o fowred § 9 9@ S 1 999 o
(1) (A, (B)HIV), (OHL), (D}(IN)

(2) (A}, B)}-0), (O-(Im), (D)-(IV)
() (AR, BHIV), (OAL), (D)-0)
(4) (A0, (BHIV), (CHI), D){I)

Options:

878270130309. 1
878270130310. 2
878270130311. 3
878270130312. 4

Question Number : 119 Question Id : 87827033116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II

(A) Demographic Transition ()  Dualism

(B) Stages of growth (I)  Take-off
) Rural-urban migration decision (I) Replacement Rate

(€

(D) Female labour force participation rate (IV) Backward bending labour supply curve
Choose the correct answer from the options given below :

(1) (AR, (BHL), (C)IL), (D-LV)
@ (AHIV), (B0, (CH(), D))
() (A){), B, (C-{), (D}-V)
(@) (V). B0, CHI), D))



Options :

878270130313. 1
878270130314. 2
878270130315. 3
878270130316. 4

Question Number : 119 Question Id : 87827033116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Eit-1 o T19 Ga-11 1 fiei it
5 ge-11
(A) HITHRRT HeFw () gaeR (gYferd)
(B) foarra/dfg % =/ () Y (2% &)
(C) U yared fol (1) g
(D) wfeen g9-vfa SRR g (IV) HI® %1 3R Fehal 99 314(d 956

(1) (A)HD), (By-(I), (O)-(ILI), (D)-(IV)

(2)  (A)-V), (B)-(I), (C)-(II), (D)-(I)

(3)  (A)-), (B)-(1), (©)-1), (D)-(V)

(4)  (A)-V), (B)-(I), (C)-(ID), (D)-(IM)
Options:

878270130313. 1
878270130314. 2
878270130315. 3
878270130316. 4

Question Number : 120 Question Id : 87827033117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I

Model/method
(A) Logit model (I)
(B) Log-log model (1)
(C) Autoregressive model (ILI)
(D) Weighted least squares (IV)

List - II

Feature

elasticities are constant
binary dependent variable
corrects for heteroscedasticity

includes lags of dependenl variable

Choose the correct answer from the options g'wen below :

(1) (AHID), (B)-(1), (O-(1), (D)-{V)
() (A)D), (B)-(I), (O-(IV), (D)-(II)
(3)  (A)D), (B}(I), (C)-(I), (D)-(IV)
(4) (A1), B)-1), (O-(1V), (DHI)
Options :

878270130317. 1
878270130318. 2
878270130319. 3
878270130320. 4

Question Number : 120 Question Id : 87827033117 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-L o H19 Telt-11 = e i .
w1 -1l

niew/fafy G
(A) iR wiEa () e oo 2 €
(B) -a e () fge (ARt enfm =
() @ gmg (e fora) wea (I1T) e forn & fore Qe o €
(D) i e o (IV) &4 =0 o T (lags) WiHferd 7 &
e feu T feeredl © | W R B T FI ;
(1) (A)-, B)-(1), (©-Im), D)IV)
(@) (A)-0), B, (C-IV), (D)
(3)  (AD), (B}(), (CHIm), (D)-(IV)
(4)  (A)-I, B)-(1), (O1V), (DHII)
Options :

878270130317. 1
878270130318. 2
878270130319. 3

878270130320. 4

Question Number : 121 Question Id : 87827033118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match the following :

List - I List - II

Theory Economist(s) who gave it
I) T.Sargent and N. Wallace
[[) Milton Friedman
Il) Franco Modigliani
IV) F.Kydland and E. Prescott

A) Permanent Income Hypothesis of Consumption

(
(B) Lifecycle Hypothesis of Consumption
(C)  Real Business Cycle Theory

(

— — i i

D) Policy Ineffectiveness Proposition
Choose the correct answer from the options given below :
(1) (AW, BH), ©-1), DHV)

(@) (AR, B, ©)-1V), D)0
(8) (AR, (B)-(I), ©)-{V), D)-{)
(4)  (AMH), B, C)-(5), (DHIV)

Options :

(A

(A
(A
878270130321. 1
878270130322. 2
878270130323. 3

878270130324. 4

Question Number : 121 Question Id : 87827033118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 < T Geit-11 1 e i

Tft-1 -1

fagra yfduTeeh sreomet
(A) U ] TR S IREREH (
(B) U I oA Wk UEHTI] (
(C) rfae Hedry =k fagid (1) el wifefemar
(D) Hifd Fregsifer deramed (
A feu U foshedi H 9 W& S 1 T97 FHIC ;
(1) (ARI), B, (Q-(1), (D)-([IV)
(2) (AR, (B)ID), (C)-(1V), (D)-(1)
(3)  (A)-(0), (B)-(I), ©)-Iv), (D)-[0)
(4) (A, (B)-(), (©)-1), (D)-(IV)
Options :
878270130321. 1
878270130322. 2
878270130323. 3

878270130324. 4

Question Number : 122 Question Id : 87827033119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(A) Unequal Exchange ()  A. Hirshman
(B) The development of underdevelopment (II) G. Myrdal
(C) Backward and forward linkage effect (IlI) A. Emmanuel
(D) Backwash effect (IV) G. Frank

Choose the correct answer from the Dptlnns glvun below :

(1) (A1, (B)-(I), (©)-), (D)-{IV)
(2 (A)-I), (B)-(I), (C-(1V), (DHI)
(3) (A, (BHIV), (O)-(D), (D)-(I)
(4) (A1), (B)-(IV), (O)-(IL), (D)-(1)
Options:

878270130325. 1
878270130326. 2
878270130327. 3
878270130328. 4

Question Number : 122 Question Id : 87827033119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 % 919 Feii-11 =1 fHerH sHifsre

-1 -1
(A) 3T THEES () T &
(B) T SIAYHR AMF HSTEIATH= (I il mEa
(C) FFa UT WS feda s (L) T FHTEA
(D) AT THE (v) <. %

"= feu 7o fowedi § 9 9& SO & 999 Hife
(1)  (A)(1D), (B)-(I1D), (C)-(I), (D)~(IV)
(2) (A, (B)~(I), (C-(1V), (D)-(II)
(3) (A, (B)A(IV), (O)~(1), (D)-(II)
(4)  (A)-(1D), (B)-(IV), (O)-(111), (D)-(I)



Options :

878270130325. 1
878270130326. 2
878270130327. 3

878270130328. 4

Question Number : 123 Question Id : 87827033120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.
List -1 List-1I
Variable Distribution
(A) Sum of squares of n independent standard normal variates  (I) tdistribution
(B) Ratio of a standard normal variate to squate root of an () Fdistribution
independent, chi square variable (divided by its degrees
of freedom)

(O Ratio of 2 independent chi-square variables each divided (Il Standard normal

by their respective degrees of freedom distribution
(D) Normal variate minus its mean, divided by its standard (IV) chi square distribution
deviation

Choose the correct answer from the options given below :
(1) (AH), (BHIV), (K0, (D)

(@) (AHIV), (BII), (CH(IL), (D}

(®)  (A-D), B}V), (CH), DHI)

(4)  (AHIV), (BIHI), (CH(I), (D)

Options:

878270130329. 1

878270130330. 2

878270130331. 3

878270130332. 4

Question Number : 123 Question Id : 87827033120 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teit-1 % W19 Geit-11 =1 e shifse
Teit-1 TEpt-11
o ferewor (e )

(A) 1T W FEER G 9 ARG (1)t e

(B) U W FHMA R U el Fe-@egl () F faqm
T (T el ¥ fasfo) o age
& HY I

(C) 2 Eda e T T (IR WEA Bed  ([1) A gEme fam
¥ fasfa) =1 som

(D) (TEIIE T~ ZHH] HIEA ) + THH (IV) &R T foa
HF foeeH

aﬁﬁqmﬁ%ﬁﬁﬁﬂﬁrmiﬂwaﬁm:

(1) (A-D, BF-IV), (C(I), (D)-(I1)

(2) (AMI ) { )() (C)-(LLI), (D)-(I)

(3)  (A)-(0), (B-IV), (C)-(II), (D)-(I)

@) (AHIV), (B)H(I), (C)-(II), (D)I0)

Options :

878270130329. 1
878270130330. 2
878270130331. 3
878270130332. 4

Question Number : 124 Question Id : 87827033121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II

Property Type of Curve
) Relatively flat IS curve
[l) Vertical LM curve
[l) Horizontal LM curve
IV) Vertical IS curve

(A) Investment is unresponsive to interest rates (
(B) Money demand is perfectly elastic w.r.t. interest rates (
(C) Money demand is completely inelastic w.r.t. interest rates ~ (
(D) Investment is highly responsive to interest rates (
Choose the correct answer from the options given below :

(1) (AHV), (BILL), (L), (D))

() (AHIV), (BI{I), (CH), (D)-()

() (AR, (B}, (C-(H), O-V)

() (AR, BHLV), (OHL), (DHI)

Options :

(A
(A)
(A)
878270130333, 1
878270130334, 2

878270130335. 3

878270130336. 4

Question Number : 124 Question Id : 87827033121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TeftL o T -1 1 fied it
T T

-4 T BN
(A) o =t 0 o i Saer () e &9 9 4fes o @ 7%
(FFiereTeer) 1 &

(B) W51 %I WA < & HW H P AR AN T () AR W A

(C) W Wi A <0 % Tew ° P Afea A e (ILD) & T T

(D) o =118 0 F Wi ot FOr (FoRuier)  (IV) At o N o
il

A feu T foehed W 9 W S T A

) (A)-IV), (BHII), (CHI, (D))

) (AHIV), (B)(ID), (C)-(tD), (D)-(1

) (AH0), (B-(I), (CK(I), (D)-(V)

) (AHI), (B)-IV), (CH1), (D)-(1)

Options:

!
2
(3
(4
878270130333. 1
878270130334. 2

878270130335. 3
878270130336. 4

Question Number : 125 Question Id : 87827033122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - II
(A) Quantity theory of money (I)  Milton Friedman
(B) Involuntary unemployment (II)  John Maynard Keynes
(C) Randomised trial (III) Abhjjit V. Banerjee
(D) Relative poverty (IV) Amartya K. Sen

Choose the correct answer from the options given below :
(1) (A0, (B)-(I), (O)-(I), (D)-(IV)

(2)  (A)-(IV), (B)-(II), (O)(ID), (D)-(D)

(3)  (A)-(I), (B(ID), (C)-(D), (D)-(IV)

(4)  (A)-(I), (B(ID), (C)-(V), (D)-(I)

Options:

878270130337. 1

878270130338. 2

878270130339. 3

878270130340. 4

Question Number : 125 Question Id : 87827033122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Geil-1 % |19 Geil-11 =1 THerH =i

Tei-1 -1
(A) =1 = afem fagid () foee wieha
(B) e SIISFI (I) SF H9S %9
(C) agfesdhera Ta&T (2raa) (I  SAf9sira off. asii
(D) |TUe T (IV) =94 . €9

= fou o faskedl # & W@ SO & 999 Hif
(1) (A, (B}-(IT), (O)-(1IL), (D)-(IV)
(2)  (A)-(V), (B)-(1ID), (O)~(1D), (D)-(1)
(3) (A1), (B)~(I1), (O)-(D), (D)-(IV)
(4) (A1), (B)-(ID), (O)-(IV), (D)-(I)



Options :

878270130337. 1
878270130338. 2
878270130339. 3
878270130340. 4

Question Number : 126 Question Id : 87827033123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of exchange rate channel of monetary transmission mechanism, in
correct order, starting from first to last.

(A) reduction in policy rate

(B) capital outflows

(C)  depreciation of domestic currency
(D) rise in net exports

Choose the correct answer from the options given below :

(0 (&) © D) B)
(@ (A) D) (B)
@) (4), 6) ©) D)
4 (&), D) €)@
Options:

878270130341. 1
878270130342. 2
878270130343. 3
878270130344. 4

Question Number : 126 Question Id : 87827033123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e g forenfafis & fafe o <m o freaferfim <ol o, et & Y ok oifem 91 o %, 98
T gt e |

(A) e <A

(B) ot afere

(C) ) 1 1 A 7

D) % (Fr) el

1 few T ol W 9 e S 1 T A

1

Options:

878270130341. 1
878270130342. 2
878270130343. 3

878270130344. 4

Question Number : 127 Question Id : 87827033124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fullnwing names of former governors of RBI in the sequence in which they held the
post starting from the earliest to latest.

(A) Y.V. Reddy

(B) D Subbarao

(C) Raghuram Rajan

(D) Unjit Patel

Choose the correct answer from the options given below :

0 © () D) (4)

@ © (4) (D) B)
() (A), (), (C), (D)
(@) ) (©) (4) )



Options :

878270130345. 1
878270130346. 2
878270130347. 3
878270130348. 4

Question Number : 127 Question Id : 87827033124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

.o, % e Tt & fefrfim T ) S A & SR Aol R e T A
Hﬁwﬁwﬂf@m?ﬁm:

%mwmﬁﬁﬁaﬁmﬁwﬁm:
(1) (€, (8) (D), (A)
) (O, (A), (D), (B)
)
)

(4), (8), (©), (D)
D) ©), (&), (8)

2
(3
(4
Options:

878270130345. 1
878270130346. 2
878270130347. 3

878270130348. 4

Question Number : 128 Question Id : 87827033125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in Indian Financial System in correct chronological order, starting
from earliest to latest.
(A) Setting up of PFRDA

(B) Setting up of UTI
(C) Nationalisation of 14 commercial banks
(D) Implementation of IBC

Choose the correct answer from the optians given below :

() (@), 6)©) [0
@ © (A) (B), (D)
() () (C, (A) (D
@ (@) (C);( ) (D)

Options:

878270130349. 1
878270130350. 2
878270130351. 3
878270130352. 4

Question Number : 128 Question Id : 87827033125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e foia @3 91 feAfciaa Seiell ), e ¥ Toaa0 @ o, W6 FTen § SFared i |
(A) IR, B

(B) T2, F T

(C) 14 aftrfoas s 1 TaerTT

(D) s, 1 foparm

4 fou o fomred % 9 W@ SN T Ff

() (A), ), () (D)

©), (A), (B), (D)

( D
3 ©) © (&) D)
@ (&) ©) @) D)

Options :



878270130349. 1
878270130350. 2
878270130351. 3
878270130352. 4

Question Number : 129 Question Id : 87827033126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Shephard’s Lemma (I)  Hidden types of agent
(B) Adverse Selection () Envelope theorem
(C) Hotelling Lemma (II) Indirect utility function
(D) Roy’s Identity (IV) Profit function

Choose the correct answer from the Dplmns gwm below :

(1) (AHIV), (B)-(D), (C)-(1D), (D))
(2)  (A)-(I0), (B)-(I), (O-(IV), (D))
) (A, B)-0), (O, (D}-IV)
(4) (A1, B)-IV), (O-O), (D))
Options :

878270130353. 1
878270130354. 2
878270130355. 3

878270130356. 4

Question Number : 129 Question Id : 87827033126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 -1

(A) YIRS T = () TUSiE % Y g TR
(B) wfdshet =7 (1) e gi
(C) ®refe = em (LII) ST9cae ST HeT

(D) g &I HaaHHA (IV) &9 e
A feu T ferpedi ® 9 @& ST 1 =94 S
(1) (A)-(IV), (B)-(I), (C)-(II), (D)-~(I)

(2)  (A)-(ID, (B)-1), (O)-IV), (D)-(II)
() (A)ID, (B)-(I), (O)~(I), (D)-(IV)
(4) (A)-(ID, (B)-(IV), (O)-(I), (D)~(I)
Options:

878270130353. 1

878270130354. 2

878270130355. 3

878270130356. 4

Question Number : 130 Question Id : 87827033127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the fullowmg cenl‘ra]l}; sponsnred schemes in India and choose the righl sequence of time
(vear) when they were launched, from earliest to latest

(A) Beti Bachao Beti Padhao
(B) Ujjwala

(C) Swach Bharat Abhiyan
(D) Ayushman Bharat

(E) Right to Education

Choose the correct answer from the oplinns giwen below :

() E @A), ) 6) [0)
@ (), ©) @) 6) [0)
3 (@) (), ©) ®) D)
(@) (A)(C) ), D) ()
Options:

878270130357. 1
878270130358. 2
878270130359. 3

878270130360. 4

Question Number : 130 Question Id : 87827033127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e W foeaferf i o SRR Aroriel O fere 2RI R 3 ek O FoRC ST o 970 o S el
e ¥ TR

(A) o T 92 g

(B) 35w

(C) @8 Y Hfm
(D) S e

(B) Toen = sfeerm

e feu U fomredl B 9 W S o 9 F
() (‘)(J(C)()()

Options :

878270130357. 1
878270130358. 2
878270130359. 3

878270130360. 4

Question Number : 131 Question Id : 87827033128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Chow Test is normally run to understand if a single regression run on pooled data is more efficient
to describe a relation between a dependent variable and a set of independent variables than the
same regression being run separately on two subgroups of sample. The steps involved in running
the Chow Test are :

(A) Run the regression model on pooled sample and calculate RSS,

(B) Run the same regression model on the two sub-samples separately and calculate RSS, and
RSS,

(C) Calculate the F statistic

(D) Check the critical F with related degrees of freedom and compare it with F calculated
(E) Do not reject H_ if F <F itical

Choose the correct answer from the options given below :

(1) (4) ) © ) E

calcnlated

(@ (&), (D) ©) B) E
3 (©, (A) B), (D) (E)
@ (©, () (4), D) ()
Options:

878270130361. 1
878270130362. 2
878270130363. 3
878270130364. 4

Question Number : 131 Question Id : 87827033128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 T AT 6 WM & feru fn T & T o fers oftwel e o e e e

TSR WA A & T % 0 T4 a0 o e Jioed & 3 -5 T 99 €9 9 foFd T S

TCRTHA 1 1§ AT < €1 8 e T W Siied o0 ¢ |

(A) Tfere Pl T WA et 1 e R ST A T T U1 (RSS,) 1 WiteRe

(B) < 39wt R ST Wew A Y ¥ H HAfeT F AR RIS, T RIS, FH Feewer
F

(C) F Wiedist a1 e

(D) o T e o T e B A e F S ol F o WY 3 e

(E) e fterfem F, o F 4 %0 8 9 H, 1 o 1 76

ra few o feredt 9 @ R 0 T A
(0 @) 6), 0 D)

(@ (&), (D), () (B) ()

() (©), (A), ®), ) (B

@ (€, (®) (4) [O) &

Options:

878270130361. 1
878270130362. 2
878270130363. 3

878270130364. 4

Question Number : 132 Question Id : 87827033129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in order of their year of establishment starting from the oldest.
(A) Lakdawala Committee

(B) Khusro Committee

(C) Alagh Committee

(D) Nayak Committee

(E) Tendulkar Committee

Choose the correct answer from the options given below :

(1) @) () (©), (4), )
@) (©), (D) (B) (A) (B
() (©,(B) (D) (A) (B
(4 (), (©), (D) E), (4)
Options:

878270130365. 1
878270130366. 2
878270130367. 3

878270130368. 4

Question Number : 132 Question Id : 87827033129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Frefefiae shi Sk Lo & o o AR, God [0 U Y% e, WEl A ° sy
(A) TRREEE gl

(B) G Hf

(C) 3= |Hfa

(D) e HiHfd

(E) dgeE gufa

el feu T fosredi # | W& I 6 =9 FHI
(1) (D), (B), (C), (A) (E)

(2 (©), (D), (B), (A), (E)

@) (©). (B) (D), (A) (E)

(4) (B), (C), (D), (E), (A)

Options :



878270130365. 1
878270130366. 2
878270130367. 3

878270130368. 4

Question Number : 133 Question Id : 87827033130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically starting from the oldest.
(A) Theory of Big Push

(B) The accumulation of capital

(C) Theory of cumulative causation

(D) Unbalanced growth

(E) Development with unlimited supplies of labour
Choose the correct answer from the options given below :
(1) (E) (A), ©), (B), (D)

(2)  (A) (B), B), (©), (D)

(3) (B, (B) (A), (D), (O

#) (A), (B), (), (O) (D)

Options :

878270130369. 1
878270130370. 2
878270130371.3

878270130372. 4

Question Number : 133 Question Id : 87827033130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frfafaa =1 9ag 904 § 9% FiF Tel FHash H el |
(A) e g =1 fagia

(B) YSi =T HEEA (WEHHCAIA)

(C) H=rfl ®wRvA (wRTsier) = fagid

(D) sEgiem I

(E) 99 i AHIHG Aqfadi o |1y foerd

= feu v fasredi § € 9 39 &1 =994 S

(1) (E), (A), (©), (B), (D)

(2) (A), (B), (B), (O), (D

), )
(3) () (B), (A), (D) (O
(4) (A), (B), (E), (©O), (D)

Options:

878270130369. 1
878270130370. 2
878270130371. 3

878270130372. 4

Question Number : 134 Question Id : 87827033131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the given schools of Ihnught [N Macroeconomics in chronnlogical order, from the oldest to
most recent one.

(A) The Keynesian school
(B)  The new classical school
(C) The classical school
D) The new Keynesian school
E) The monetarists
Choose the correct answer from the options given below :

b (4) (D) ©) ) &)
2 (E), (C), () (4) ©)
3) (€, (B) (&), D) (E)
) (© (4), ) ) O)



Options :

878270130373. 1
878270130374. 2
878270130375. 3
878270130376. 4

Question Number : 134 Question Id : 87827033131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

itz Pt a1 fmfeitad fommemet 1 58 s W, JEian § e o S afe Hiau)
(A) TR fererem

(B) TA-WIEH (To-aeAfea) foamum

) W (el ) formeem
(D)
(

E) TR
3 fe o feedt o R R o A
1) (A) (D), (C), (B) (E

) () (0 () (4), D)
3 () (B) (&), ), (B
4 (0, (A [® 60

,---\’,_.._‘_

)

!

—

)
)
)
)

e

Options:

878270130373. 1
878270130374. 2
878270130375. 3

878270130376. 4

Question Number : 135 Question Id : 87827033132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Central Bank of a country maintains a fixed exchange rate, which is defined as the number of
units of domestic currency per unit of foreign currency. Currently the domestic currency is
overvalued against the foreign currency. In this context, indicate the kind of intervention required
by the Central Bank to maintain the parity, by putting the following statemenets in correct order.

(A) The demand for foreign currency exceeds its supply

(B) The exchange rate is lower than the market clearing exchange rate

(C) The gap between supply and demand for foreign currency is equalized
(D) The Central Bank's stock of foreign currency is depleted

(E) The Central Bank sells foreign currency from its stock of reserves
Choose the correct answer from the options given below :

(1) ) () (&), 0) ©
@ ), (4) 6 0)©Q

() ) () (&), ©), O)
() (8), (A) &), ©), O)

(
( )
( /
Options:
878270130377. 1
878270130378. 2
878270130379. 3

878270130380. 4

Question Number : 135 Question Id : 87827033132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B), (B, (4), (), (©)

(B), (A). (E), D), (

(B), (E). (4), (©), (D)

(B), (A), ©) ), )

/
Options:
878270130377. 1
878270130378. 2
878270130379. 3

878270130380. 4

Question Number : 136 Question Id : 87827033133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) :  Agricultural GDP constitutes less than 16% of aggregate GDP at 2011-12 constant
prices and less than 20% of the aggregate GDP at current prices in 2022-23 (PE)

in India.

Statement (II) : Service sector GDP constitutes less than 16% of aggregate GDP at 2011-12 constant
prices and less than 20% of the aggregate GDP at current prices in 2022-23 (PE)
in India.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3)  Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options:

878270130381. 1

878270130382. 2

878270130383. 3

878270130384. 4

Question Number : 136 Question Id : 87827033133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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210 o 16% § % & 79 e o, w0 S W 0% e

FA (1) : 2022-23 (W1 %) o STER T W Wl &1 1 S & 0 & 2011-12 %1 oo vl T G0
EERENTREAACNE GRS SR EP VR e

A HA % el H, Al feu e foered] W 9 Wafoen e S A A HC;
(1) U Lo e L3 9 &

() YR 1 3 R 11 S 5 &

(3) U 1T ¢, Wi R I 5900 ¢

(4) IR A ¢, T BT ©



Options :

878270130381. 1
878270130382. 2
878270130383. 3
878270130384. 4

Question Number : 137 Question Id : 87827033134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The Government’s spending on social services as a percentage of GDP has been
rising since 2017-18.

Statement (II) : The Government's spending on social services asa percentage of total expenditure
has also been continuously rising since 2017-18.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
©)

(

4)  Statement I is incorrect but Statement II is correct

Statement [ is correct but Statement Il is incorrect

Options:

878270130385. 1
878270130386. 2
878270130387. 3

878270130388. 4

Question Number : 137 Question Id : 87827033134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270130385. 1
878270130386. 2
878270130387. 3
878270130388. 4

Question Number : 138 Question Id : 87827033135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Human Development is a process of enlarging peoples choices.

Statement (II) : Human Development Index (HDI) is based on the following indicators : Life
expectancy at birth, expected years of schooling, mean years of schooling & Gross
domestic product per capita at dollar PPP.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3

(

4)  Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

Options :



878270130389. 1
878270130390. 2
878270130391. 3

878270130392. 4

Question Number : 138 Question Id : 87827033135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130389. 1
878270130390. 2
878270130391. 3

878270130392. 4

Question Number : 139 Question Id : 87827033136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Given a random sample, the distribution of the sample mean tends to a normal
distribution, as the sample size becomes very large.

Reason (R):  Central limit theorem

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270130393. 1

878270130394. 2

878270130395. 3

878270130396. 4

Question Number : 139 Question Id : 87827033136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 & o few 0 € e e (A) % 0 A feffi € 1 g S SO (R) F B A €

feRer (A) : el T U agfeh wioey! H, Afc iaeyl o TR o a1l &) I & o Wil o WA
1 foron T e 1 R Yo 2 €

FOR): T (e fee 2m)

R Fo o e N, A fou T feredt B ¥ WA S TH A

(1) @ (A) 3R (R) T ¢ T (R), (A) %I T8 =2 &

() T (A) R (R) T & A (R), (A) F 98 SR T

(3) (A)®d g o (R) 59 &

(4) (A) 35 & W (R) ¥ &

Options :

878270130393. 1



878270130394. 2
878270130395. 3

878270130396. 4

Question Number : 140 Question Id : 87827033137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  According to the Domar condition of debt sustainability, the public debt would
not rise as proportion of GDP if the effective interest rate on government Liabilities
happens to be less than or equal to the growth rate of GDP at current price.

Reason (R):  Growth rate of GDP of an economy at current price is bound to be less than the
effective interest rate on the government bonds.

In the light of the above statements, choose the most appropriate answer from the options given
below

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270130397. 1

878270130398. 2

878270130399. 3

878270130400. 4

Question Number : 140 Question Id : 87827033137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 2 o few 0 €. v e (A) % w9 ¥ forf € 9 S 30 WO (R) F E9 A

AW (A) : M SO (Sustainability) %7 S T (Wfoa4) % SRR, e T Sqmel W
W AN A AT RA SR A A I mA TR, AN AF
ST o AR R Hrers %0 H g T e |

TOOR): (o creforen ¥ R e A S R 9 R T A e o @ A
o H W @ @

TR YA o SHTel H, el fou T foedl # B e Wel S 1 99 F

(1) < (A) 1 (R) ¥ € AR (R), (A) 91 ¥ oA &

(2) A (A) 4R (R) T € A (R), (A) 1 5E omen 7 &

(3) (A)5E E W (R) 79 €

(4) (A) A & A (R) T 8

Options :

878270130397. 1

878270130398. 2

878270130399. 3

878270130400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701408
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827033138 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Assume that there are 2 firms producing steel. There is a negative externality due to production
causing pollution, Firm 1's output is g, and firm 2's is q,. Assume that the market price for steel is
P.=1. Now consider two scenarios :

Scenario 1 : Assume that firm 1's cost function is Cl(q1)=q12 and firm 2's cost function is
G (9 1) =g t0.75 q])z. [n short, firm 1's production is not affected by firm 2 but firm 2's
production is affected by firm 1, ie., Firms 1's operation causes firm 2's costs to rise.

Scenario 2 : Assume that negative externality works both ways i.e. both the firms face the adverse
impact. So assume C;(q, g) =(q; + 0.75 ) and Cy(qy, ) = (g, +0.75 g%, Le, Firms 1's operation
causes firm 2's costs to rise and vice versa.

Sub questions

Question Number : 141 Question Id : 87827033139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the equilibrium profit of firm 2 (m,) in the short run, in Scenario 1 ?
(1) m,=0.025

(2) My = 0.125
(3) m,=-0125
(4) Ty= 0.75
Options :

878270130401. 1
878270130402. 2
878270130403. 3

878270130404. 4

Question Number : 142 Question Id : 87827033140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the long run profit of firm 1 (), in Scenario 1 ?
(1) m;=0.025

(2) m =0

(3) w=0.25

(4) w=0125

Options:

878270130405. 1

878270130406. 2

878270130407. 3

878270130408. 4

Question Number : 143 Question Id : 87827033141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the long run profit of firm 2 (1,), in Scenario 1 ?

(1) m,=0.125

(2) Ty = 0.120

(3) m,=0.5

(4) Ty = 0
Options :

8782701304009. 1
878270130410. 2
878270130411. 3

878270130412. 4

Question Number : 144 Question Id : 87827033142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What would be the market equilibrium profit of the 2 firms, in Scenario 2 ?

B S pem B
(1) ™= M2 = o
TIPS P
B mEe Mg
6 e s e T
B M= ™
(4) m=m,=0
Options:

878270130413. 1
878270130414. 2
878270130415. 3

878270130416. 4

Question Number : 145 Question Id : 87827033143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Do you think that the equilibrium outcome for Scenario 2is inefficient ? How would be the efficiency
be restored ?

(I) No, the equilibrium outcome of the firms are profit minimizing outcome.

(2)  The externality can be resolved by closing down both the firms is, 7, =7,=0

(3) Ifoneof the firm is forced to close down, the externality will be reduced and their joint profit
is 7, +m,=0071

(4) Ifoneof the firm is forced to close down, the externality will be reduced and their joint profit

is T tmy= 0.109

Options :

878270130417. 1
878270130418. 2
878270130419. 3
878270130420. 4



Question Id : 87827033138 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827033139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ufged 1 § Ieqshicl H AT 2 1 G A () ¥ 87

(1) TH = 0.025

(2) mp=0.125

(3) My = = 0. 125

(4) Ty = 0.75
Options :

878270130401. 1
878270130402. 2
878270130403. 3

878270130404. 4

Question Number : 142 Question Id : 87827033140 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qfged 1 | YAl 1 oK1 Sreehlfcish oY (w,) 1€ ?

(1) w,=0.025
(2) w=0
(3) w,=0.25
(4) w,=0.125
Options :

878270130405. 1
878270130406. 2
878270130407. 3
878270130408. 4

Question Number : 143 Question Id : 87827033141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qfged 1 | YAl 2 oK1 Sreehlfcieh oY (m,) 1€ 2

(1) w,=0.125
(2) m,=0.120
(3) my=-05
4) w,=0

Options:

8782701304009. 1
878270130410. 2
878270130411. 3

878270130412. 4

Question Number : 144 Question Id : 87827033142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4) m=my=0
Options:
878270130413. 1
878270130414. 2
878270130415.3

878270130416. 4

Question Number : 145 Question Id : 87827033143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270130417. 1
878270130418. 2
878270130419. 3

878270130420. 4

Sub-Section Number : 3



Sub-Section Id : 8782701409
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827033144 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension

According to the NSO, MOSPI press release dated 3 May 2023, the revised estimate of GDP at
the current price for the year 2021-22 was Rs. 2,34,71,012 crores and that for 2020-21 was
Rs. 1,98,29,927 crores. The GDP at 2011-12 constant prices for the year 2020-21 and 2021-22 were
Rs. 1,36,87,118 crores and Rs. 1,49,25,840 crores respectively. At the current prices, the net taxes
on products was Rs. 20,32,128 crores in 2021-22(RE). The PFCE, GFCE, GFCF in 2021-22 were
Rs. 1,43,44,336 crores, Rs. 26,25,361 crores and Rs. 67,860,391 crores respectively. Change in
stocks(CIS), valuables and discrepancies in 2021-22 were Rs. 1,63438 crores, Rs. 3,79,112 crores
and Rs. (—) 208,247 crores (negative) respectively in current prices.

Sub questions

Question Number : 146 Question Id : 87827033145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What was the inflation rate in India based on the GDP deflators ?

(1) 4.5%
2) 6.6%
3)  9.3%

(4) 10.2%
Options :
878270130421. 1
878270130422. 2

878270130423. 3

878270130424. 4



Question Number : 147 Question Id : 87827033146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The current account deficit to GDP ratio (both at current prices) in 2021-22 for India was :
(1) 1.75%

(2) 3.53%

3) 4.06%

()

(4) 2.64%
Options :
878270130425. 1
878270130426. 2
878270130427. 3

878270130428. 4

Question Number : 148 Question Id : 87827033147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Gross Value Added (GVA) at basic prices in 2021-22 was :
(1) Rs. 2,55,03,140 crore

(2) Rs. 2,14,38,884 crore

(3) Rs. 2,34,71,012 crore

(4) Rs. 1,49,37,569 crore

Options :

878270130429. 1

878270130430. 2

878270130431. 3

878270130432. 4

Question Number : 149 Question Id : 87827033148 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 2021-22, the investment GDP ratio in India was :

(1) 31.2%
(2) 90%
(3) 40.1%
(4) 42.4%

Options :

878270130433. 1
878270130434. 2
878270130435. 3

878270130436. 4

Question Number : 150 Question Id : 87827033149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the value of exports in 2021-22 at current price be Rs. 50,49,64 crores, the import in 2021-22 at
current price in India was :

(1) Rs. 56,69,024 crores

(2) Rs. 6,19,378 crores

(3) Rs. 1,17,18,975 crores

(4)  Rs. 94,11,752 crores

Options :

878270130437. 1

878270130438. 2

878270130439. 3

878270130440. 4

Question Id : 87827033144 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827033145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sit €f i STeEwer o SR U 9RA H qETEHfd ST 3 i ?

(1) 4.5%
(2) 6.6%
(3) 9.3%
(4) 10.2%

Options :

878270130421. 1
878270130422. 2
878270130423. 3

878270130424. 4

Question Number : 147 Question Id : 87827033146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YT o et 2020-21 ¥ =6 T =1 3R S € O (ST Feifeid il W) S S o
(1) 1.75%

(2) 3.53%

(3) 4.06%

(4) 2.64%

Options:

878270130425. 1
878270130426. 2
878270130427. 3

878270130428. 4

Question Number : 148 Question Id : 87827033147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a9 2021-22 H AT HIHd 9T kel Jod €A (S S W) o
(1)  2,55,03,140 &S €94
(2) 2,14,38,884 FE ¥
(3) 2,34,71,012 U ¥4
(4) 1,49,37,569 HUE F94

Options :

878270130429. 1
878270130430. 2
878270130431. 3

878270130432. 4

Question Number : 149 Question Id : 87827033148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gRA | a9 2021-22 ¥ fHersr - St €t o S o

(1) 31.2%
(2) 90%
(3) 40.1%
(4) 42.4%

Options:

878270130433. 1
878270130434. 2
878270130435. 3

878270130436. 4

Question Number : 150 Question Id : 87827033149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

3 T H Fafer bl R 9 2021-22 H 7 1 5 50,49,645 S T o 1 99 2021-22 H Felferd

HI T S

(1) Rs. 56,69,024 HE ¥

(2) Rs. 619378 #E TW

(3) Rs.117,18975 FE TH

(4) Rs. 9411752 FIE ¥
Options :
878270130437. 1
878270130438. 2
878270130439. 3

878270130440. 4



